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1. Which of the following statements is/are correct regarding SOUL — School of Ultimate Leadership?
(A) Itis a premier institution for developing leadership in the field of Space Science and Astronomy.
.The campus of SOUL would be established at Gandhinagar.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

2. The Department of Science and Technology, Government of India had declared 28™ February as
National Science Day for celebrating the memory of the

.Discovery of Raman Effect by Dr. C. V. Raman

(B) Discovery of Crescograph by Jagdish Chandra Bose
(C) Launching of first Indian satellite, Aryabhata

(D) Discovery of RNA chains by Dr. Khurana

3. Which of the following statements regarding Election Commission of India is/are correct?
(A) Mr. Vivek Joshi has been appointed as new Election Commissioner

(B) Mr. Gyanesh Kumar has been appointed as Chief Election Commissioner

@Both (A) and (B)
(D) Neither (A) nor (B)
4. In around the 8" century BCE, described the concept of Pythagorean theorem and gave
the rules of right-angled triangle.
(A) Pingal @ Baudnayan
(C) Nagarjun (D) Varahamihira

5. Which of the following countries was recently in the news regarding an outbreak of human
metapneumovirus (HMPV)?

(A) South Korea (B) North Korea
(C) Philippines @) cChina

6. In which state was the 'Mahabharata Vatika' featuring 37 plant species mentioned in the
‘Mahabharata’, set up for plant conservation?

(A) Gujarat (B) Madhya Pradesh
(C) Uttar Pradesh .Uttarakhand

7. The Flamingo Festival 2025, one of India's premier eco-tourism events attracting thousands of
visitors from across the globe, is celebrated in which of the following states?

(A) Gujarat .Andhra Pradesh
(C) Rajasthan (D) Kerala
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8.

9.

10.

11.

12.

13.

Which of the following is India's first 'Al-enabled' warship?
@1Ns surat (B) INS Nilgiri
(C) INS Vaghsheer (D) INS Kuber

Which of the following statements is/are correct regarding Cook Islands that was recently in the

news?
(A) It is located in Indian Ocean

.New Zealand’s Foreign Minister expressed 'significant concern' over the Cook Islands signing

a cooperation deal with China
(C) Both (A) and (B)
(D) Neither (A) nor (B)

The Reserve Bank of India (RBI) launched the 10" Financial Literacy Week (FLW) 2025 with the
theme

(A) Beware of Fake Digital Arrest
(B) Share OTP with Utmost Caution

.Financial Literacy: Women’s Prosperity
(D) Let Caution Guide Your Passio

Consider the following statements about the significance of the Shamlaji fair for the Bhil Adivasis:
1. The fair is an important religious pilgrimage site for the Bhil community.

2. It provides a continuous marketplace for trade and commerce during the festival.

3. The fair is exclusively meant for traders and merchants with no religious significance.

Which of the above statements are correct?

(A) 1 and 2 only @2 ana 3 only
(C) 1 and 3 only (D)1,2and 3
Recently China's Zhurong rover discovered 3.6 billion-year-old sandy beach deposits on s

indicating that the planet once had an ancient ocean.

(A) Saturn (B) Venus

.Mars (D) Jupiter

Recently , India’s Finance Secretary, has been appointed as the 11™ Chairperson
of the Securities and Exchange Board of India (SEBI).

.Tuhin Pandey (B) Pankaj Kumar

(C) Sanjay Malhotra (D) Samir Sinha
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14.

15.

16.

17.

18.

19.

20.

Which of the following countries launched the Green Transition Alliance India (GTAI) to
strengthen its collaboration with India in the field of sustainable energy solutions?

(A) France (B) Russia

(C) Norway . Denmark

India and agreed to resume free trade negotiations following the discussions
between their Prime Ministers during the G20 Summit in Rio de Janeiro in November, 2024.
.United Kingdom (B) Australia

(C) New Zealand (D) Italy

Recently has been appointed as the ‘Principal Secretary-2’ to Prime Minister of
India.

(A) Anil Mukim (B) Rajiv Topno

.Shaktikanta Das (D) V. Ramanuj

The Aravali Safari Park project proposed to be the world’s largest safari park, will be developed
in

(A) Gujarat (B) Rajasthan

(C) Madhya Pradesh .Haryana

India signed a Memorandum of Understanding (MoU) with to expand cooperation in the
mining sector, specifically focusing on lithium exploration.

.Argentina (B) Mexico

(C) Mauritius (D) Italy

The world largest propellant mixing equipment, a 10 ton vertical mixer is developed by
@1sro (B) NASA

(C) ROSCOSMOS (D) CNSA

Which of the following statements is/are correct regarding the Matsya-6000 submersible developed

under India’s Deep Ocean Mission by the National Institute of Ocean Technology (NIOT)?
(A) It successfully passed its wet tests at Kandla Port.

. This submersible is a significant part of India’s Samudrayan Project, which aims to advance

deep-sea exploration.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

[BMN] P.T.O. | 7



KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight


21.

22.

23.

24.

25.

euRAAL 0L (st W2 Alui 20REIU AILseAE iws WIRARK §S Uikl AIREL (APEDA) 31
G2 ILRIATIL HRAAAL APDUAL 2L MILAL ELSHAL MURAAL AL YaAH W(BUERALs Blud-2 A
AgNANDS AL 5.

(A) gL (B) 3218
.mﬁeéfc‘mt (D) 3us

G- iyl ouotd DAL WS s34/ sl [Quury/@u-ll 0Ri/20i 82

(A) dll 2uu 21 ARsIRAL HISEL 2 cunAsIA [AeUdL GlRL sRaAMi 20 8.

.ut iyl 2R Aol Wicdtls- A R wRalRl, vt s34 HSaiii-l A2 (sseL uR -
N 8.

(C) (A) 244 (B) i

(D) (A) 247 (B) WS\ S A<\

gl AUFs-2URLs AlgU 2024-25 Yol ARAAAL AIFR2S 85 s Bg2-2 222 (LEADS)
2024 Ui ailui 2ud 8.

(A) slee yfda (B) dMauruRz2d

(c) =4 (@)@qe

dRLd-i it (22l As1Q-FDI sliotd DR U8l $2/s2i @it/ Q- 0Ri/20i 872

(A) -wgusla 4 2023-24 £R(RI-L FDIN 16.43% dLel-L A FDI 8(5A3L Wclls-AL 2ie6iul A%1d WA
A HOR B,

.Dyxemui FDI 8(5A8) 8-gell 2UL5NAIRL SIRA-L Wi 2olnl YA, WRERRA, Ridudie, Y.al.8. 2
Ju- 20y A B,

(C) (A) 244 (B) wi-i

(D) (A) 244 (B) UL SIS AL

Ll ABUEFS- RS AN8U 2024-25 YL AL Bl sliold DRAAL U g2/ sui [Qu-/ Q-

ALY/ B?

1. A7RLd GURCAAL GST GELRLQUML Acld 8%¢0l Ay, ALELL AR B. % drf UELS HAH A ALslcl e2Ud B.

2. 4 2022-23 €A AU ClLRAAAL A7RUML § 519U S~selloi yam s 8.

3. Biyd ud i 8- (ASI) 2022-23-1L URBUAL U-4RUR 2L HEBLS Gdtet 2 RAR Wi
UAH U .

(A) st 1244 2 (B) g&cl 2 2 3

(C) sst 1244 3 .@ué‘t&u AN

8 | [BMN] [Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight


21.

22,

23.

24.

25.

In a significant milestone for India's agricultural exports, the Agricultural and Processed Food
Products Export Development Authority (APEDA) successfully completed India's first-ever
commercial shipments of premium Sangola and Bhagwa pomegranates to

(A) USA (B) UAE
.Australia (D) Denmark

Which of the following statements is/are correct regarding the G-SAFAL scheme?

(A) It is implemented by the Women and Child Development Department of Government of
Gujarat.

.T his scheme focuses on empowering underprivileged families, particularly women by
promoting economic self-reliance.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

According to the Socio-Economic Review, 2024-2025 of Gujarat, Gujarat comes in
category in Logistic Ease Across Different States (LEADS), 2024.

(A) Fast moving (B) Aspirers
(C) Steady .Achievers

Which of the following statements is/are correct regarding Foreign Direct Investment (FDI) in

Gujarat?

(A) Gujarat secured the first position in the country in terms of FDI equity inflows with 16.43%
contribution in FDI during FY 2023-24.

.USA, Mauritius, Singapore, UAE and Cayman Islands are among the top five countries
attracting FDI Equity Inflow in Gujarat.

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct regarding the economy of Gujarat according to the
Socio-Economic Review, 2024-2025 of Gujarat?

1. Gujarat has consistently contributed over 8% to India’s GST collections, highlighting its
economic vitality and strength.

2. During the year 2022-23, Gujarat stood first in handling total cargo among the states of India.

3. According to the results of Annual Survey of Industries (ASI) 2022-23, Gujarat is first in the
country in Industrial Production and Fixed Capital.

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 @A of the above
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26.

27.

28.

29.

30.

31.

is one of the cities chosen by the NITI Aayog for its Growth Hub (G-HUB) programme
to boost their economic growth.

@surat (B) Ahmedabad
(C) Rajkot (D) Vadodara

Which of the following major crops are covered under the Minimum Support Price Policy of
Government of India?

1. Sorghum 2. Maize

3. Cotton 4. Sugarcane

(A) Only 1,2 and 3 @)only 2,3 and 4
(C)Only 1, 3 and 4 (D) All of the above

In the Union Budget 2025-26, presented by Finance Minister, Nirmala Sitharaman, the limit of the

Foreign Direct Investment (FDI) in the insurance sector has been raised from to
(A) 10% to 24% (B) 24% to 51%
(C) 51% to 74% @)742% to 100%

Reliance industries has announced plans to build the world’s largest data centre in
.Jamnagar (B) GIFTCITY, Gandhinagar
(C) Bengaluru (D) Pune

initiated its withdrawal from the World Health Organization (WHO) on
January 20, 2025 citing mishandling of the COVID-19 pandemic financial disparities and political
influence concerns.

(A) Germany (B) Venezuela
.USA (D) Romania

Three statements 1, 2 and 3 are given below, followed by a question
Statements:

1: Raj has a higher salary than Mohan but earns less than Suresh.

2: Suresh is the highest earner among them.

3: Mohan earns less than Amit.

Question: Who among Amit, Mohan, Raj and Suresh has the lowest salary?
Which one of the following is correct in respect of the above Statements and the Question?
(A) 1 alone is sufficient to answer the Question.

(B) 1 and 2 together are sufficient to answer the Question.

(C) 2 and 3 together are sufficient to answer the Question.

.1 and 3 together are sufficient to answer the Question.
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32.

33.

34.

35.

A2AAL QL AL 20011 52 G AL,
1.2(Q, 2o s HI2L 8.

2. A2l 2 Yo AN GHRAL B,

3. @eis A2 Al B.

-

a ~
4. S, YA SRl AL B
D ~ N
5. $lald, (A sAL W21 B
A2l W21 lsa/alsail A58l s2a 1S Jedl Adedi-l 32 82
(A) L 61 (B) Wiat AL

(C) w212 .omi i

1R vl %2l Al 2 B:

%2 1: 19,37, 51, 67

o 2: 13,29, 43, 61

% 3: 17,31,53,71

AA4: 11,23, 47, 59

(Adenl:

1. s A il il AR 20010 013 AR 2issA U-A AR B.
2. s AU A5 (Glrt-21(A0U%R 200U B, % d-d 22| UL 6D B,

Ust: 5% A A A B?

-~ ~

(A) set (Rden 1 Ul U6l UUAL HIZ URd B.
(@)1 (e 2 ol ot 2uc w2 yad B.
(C) (e 1 1A 2 6i-d 2412 HONA WAL AL, BUUAL WIS %32 &,

(D) -t i (Ader 1, A ol (et 2 Uil Lol AL HIZ YRd 8.

-

% A, B, C 2- D AGA-HA 25-L5L ¢ SIRAHS AvA124L S, cl (A x B) + (C x D) il Herin (ud 2] wal?

.114 (B) 105

(c) 110 (D) 120

WEHL s corlirA AlZIL 35 B. Grir - e[§LSL sUy L €35 UR s Gl s 201Ad B, 24 ud 2
Rl U7yl €25 UR 6l AAIL-AUAIL 61 YSUUL 2Udd B, SIEURL ARL 6l-uA (RRI(6Ig, adls urie s
$2dl [Qldy Bsioust? aisl oi-idl s ?

(a) 16 (@)-0

(c)1s (D) 24

12 | [BMN] [Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight


32.

33.

34.

35.

Study the following statements and answer the question:

1. Ravi is older than Ajay.

2. Sanesh and Dhruv are of same age.

3. Priyank is the youngest.

4. Kaushal is younger than Dhruv.

5. Kaushal is older than Ravi.

How many statements are required to determine the oldest person/persons?
(A) Only two (B) Only three

(C) Only four @)An the five

Four groups of numbers are given below:

Group 1: 19, 37,51, 67

Group 2: 13,29,43,61

Group 3: 17,31,53,71

Group 4: 11,23,47,59

Statements:

1. All numbers in a group follow a specific pattern related to prime numbers.
2. One of the groups contains a non-prime number, which makes it different from the others.
Question: Which group is different from the others?

(A) Statement 1 alone is sufficient to answer the question.

.Statement 2 alone is sufficient to answer the question.

(C) Both statements 1 and 2 together are required to answer the question.

(D) Neither statement 1 nor statement 2 is sufficient to answer the question.

If A, B, C and D are distinct single digit positive numbers, then what is the greatest value of
(A xB)+(CxD)?

@114 (B) 105

(© 110 D) 120

In a park, there is a rectangular walking track. One bench is placed along each of the north and
south sides, and two distinct benches are placed along each of the east and west sides. How many

different triangular areas can be formed by selecting any three benches as vertices?

(A) 16 ® 20
©) 18 (D) 24

[BMN] P.T.0. | 13
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36.

37.

38.

39.

ALL SIHELRL AU, (et U AIR A oliusiH WFge -5 8, 16 2 12 [Baui 2ada Ad uel s3
23 8. YA AHAR s 52 B, (Ml WIANAIR, APLR GlHAR, 2 Ul As YAl A1 B (A §20
AR, A AL A SURAL: SIH AIE B).

ARAAL AdenAl R [QRuR s2i:

1. WI%gR AR Ul ALl

2. igse 11 (Baiuiyel a8l

GuRlstniadl 53 (Rde-/[Rde-dl 01 B2

(A) g5t 1 (B) 851 2

.1 A 2 6 (D) 13 2 U8 sisueL 4]

AR ALSL (L, 61, &, UL ) B FUL e384 20616, UR s -Vl 22 ATWAL 8. % AR disl randomly 2d

AN N

2Aleui 6 8, di DAL (el uR QR s2i:

~ NN

1. AL O & ALSSAURL 318 U(sel viid)l 2012 U 6.

-

2. 55cL 89 Adl © BUL HRAGIR 6] AlSL -l A1=0 012 uR Giil 2% 8.

o N

GuRLstiuil 53 (Rde-/(Rdedl 01 872

-

(A) g&ei1 .gsdz

(C) 12 2 6idd (D) 13 2 UL SisuaL ASl

iR Qaellail (A, eudel, AL, £lus 21 S211) & FUSL (Rivagfa W2 2127 53 8, 2 Al uriedll
(@9l A2t (RdeAl sReuui 2iLcul 8-

A1 (Ader: UM 2 Gudiuizll s uie 2AL B,

WG (Rden: ARRL A usHiadl AU AUSL 25 URie AAL B,

AR (Rden: ARRL £lus 2 Seunizll ayui ay el usic 2 8.

GuRlsd HUR AL 2uaR, DAL Fresel ur (Qaur s

1. 2l 2oL A1R2 [Qaueliid sidaEu Hull 8.

2. lusH 513U W2 URie sAUUL UL S,

GuRlsaHial sl FArstl/FArstil A1l §?

(A) g5t 1 (B) &5t 2

(C) 122 0 .1 3 24\ SisueL 4d)

N NN

121+l 21 el Udlg- g, A 201l 210 1A B, 24 YR WHNAL 1241 21 B, R l
-l Wil oled 8, R 2AReL ULBnl 1741 220 20 B. cls-ul gt S2al U=y 87

(a) 32 .37

(c)36 (D) 42
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36.

37.

38.

39.

Three workers Ajay, Milan and Sagar can complete a construction project independently in 8, 16
and 12 days respectively. Ajay works on Monday, Milan on Tuesday, Sagar on Wednesday and
then the cycle repeats (Ajay again on Thursday, and so on).

Consider the following statements:

1. The project will be completed on Thursday.

2. The project will be completed in 11 days.

Which of the above statements is/are correct?

(A) 1 only (B) 2 only
.Both 1 and 2 (D) Neither 1 nor 2

There are four people (A, B, C and D) where each have a unique seat assigned at a table. If the four

people randomly sit in the seats, then consider the following statements:

1. It is possible that exactly one person sits in the wrong seat.

2. There are only six ways in which exactly two people can sit in their correct seats.
Which of the statements given above is/are correct?

(A) 1 only @: only
(C) Both 1 and 2 (D) Neither 1 nor 2

There are five students (Amit, Bhavesh, Charan, Deepak and Esha) who applied for a scholarship,

and the following statements were made about their selection:

True Statement: One of Amit and Bhavesh was selected.

False Statement: At least one of Charan and Deepak was selected.

True Statement: At most two of Charan, Deepak and Esha were selected.
Based on the above information, consider the following conclusions:

1. At least four students received the scholarship.

2. Deepak was selected for the scholarship.

Which of the above conclusions is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 @) Neither 1 nor 2

In a line of passengers waiting for a bus, Ravi is 21° from the front, and Suresh is 12 from
the back. After they interchange their positions, Suresh becomes 17 from the back. How many

passengers are there in the line?

(A) 32 @® 37
(©) 36 (D) 42
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40.

41.

42.

43.

44,

DA ALEs 2 24AURL 1L UL
2. ALRs (Citizen)
5. 2182 (City)

1. Wid (Province)
4. 221 (Country)

@:,5,1,4,6,3

(C)2,5,4,1,6,3

3. ([As1 (World)
6.vis (Continent)
(B)2,1,5,4,6,3
(D) 2,5,1,6,4,3

s (3(Qadl 25 12 (3 (2L (Zouni o 8. usl d UL Al 244 15 (S 20100 202 8. UL d $2LAL U3l
Ad 41 16 (33 2010 U B. Bed, d Bs AR AY FUSL AR 24 15 (33 U010 S drll il 221 USIA

8. dl 25 sURL $8 (E2uni 82
(A) G2

@

(B) elguaL
(D) ulzm

g A Al s % AN URAl VisA1A HALEIL A3 52 B. dll iR (Reuni 10 (5l wd 8. uR6uEe
g Stoll dg Aol 5 (3Hl 2 8, AR Al WHRIL dRg Aull 3 (33 U 8. Ul 2ugd $220l S1oil drg avil
15 (53l 1@ &, IR AL~ $2120 wHell g avil 15 (53l A 8., AgH AU Al 4R 326 iR B?

(A)10 (5.0
(c)15 (5.0

(el

1. oitl STseRd dlelu widl 8.

2. ot el wAdL (sl s 8.
(Fres:

I ot STsed goln B,

IL. ot g Alstil Sise?l 8.
Dol 53 w12 B2

@)t 121122 8.

(C) I A IT 6id 242 B.

@:

(D) 18 (5.21L

(B) s&ct IT 24442 .
(D) I'3 I USL SISUQL 2R 2l

s A, L uste-l Hall-ll X 2 Y 8. Hallt X 2 Y glrl 2UFFe ALl ARIHR 3:2 B, R dd-ll

2R WRLL QMR 5:3 B.
(GEIEE

1. 2NARIL w2l bllg $ 6l 710,000 B.
2. oi-l nell-i-l ge 2nnail vl 40,000 8.

sy

I. oidl n2fl-dl gL A Fd gt Asi-ll AR s AsA B.

IL. H2ll- X glol Bisal A A5 A5 S5\ st B.

Drinial 53 A1 B2
(A) g5t (s T 2-RAR B
@it meii 23 8

16 | [BMN]

(B) set (sl IT 24212 B
(D) A L (Fregtl T 247 A L IT 2212 &

[Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight


40.

41.

42.

43.

44.

Arrange the following in a logical and meaningful sequence:

1. Province 2. Citizen 3. World

4. Country 5. City 6. Continent
.2, 5,1,4,6,3 B)2,1,5,4,6,3
©)2,5,4,1,6,3 ?D)2,51,6,4,3

A delivery truck drives 12 km south. It then turns right and travels 15 km followed by another
right turn to go 16 km. Finally it makes one more right turn and moves 15 km to reach its final
stop. Which direction is the truck facing now?

(A) North (B) South © rast (D) West

Rahul and Sohan start traveling together from one location. They walk 10 km towards the north.
Rahul then turns left and walks 5 km, while Sohan turns right and walks 3 km. Rahul then takes
another left turn and walks 15 km, whereas Sohan turns right again and walks 15 km. How far is
Rahul from Sohan now?

(A) 10 km @3 xm
(C) 15 km (D) 18 km
Statements:

1. All doctors are trained.
2. All trained individuals are skilled.

Conclusions:
1. All doctors are skilled.

II. All skilled individuals are doctors.

Which of the following is correct?

@ only 1 follows (B) Only II follows

(C) Both I and II follow (D) Neither I nor II follows

In a factory, there are two types of machines, X and Y. The ratio of profits earned by machines X
and Y is 3:2, while the ratio of their maintenance costs is 5:3.

Statements:

1. The total savings after deducting maintenance costs is ¥10,000.

2. The total maintenance cost of both machines together is ¥40,000.

Conclusions:

I. The total profit earned by both the machines can be calculated.

II. The profit earned by machine X alone can be determined.

Which of the following is correct?

(A) Only Conclusion I follows (B) Only Conclusion II follows
.Both Conclusions I and II follow (D) Neither Conclusion I nor II follows

[BMN] P.T.0.] | 17
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45.

46.

47.

48.

49.

i 21¢ 'MISUNDERSTANDINGS' il 2481214 AcsHUL (2491 HouARII Qe sHMI) dlisaciui 219
8. 32dl AAR/AAU-) RA[A A 238217

INBEE ) .‘&3

)& (D) 2L

MTX6X2=12,9X1X3=9,11X7X2=10 S, dAl13 X 6 X 5 d-il [ZUd 2l ?

.12 (B) 30

(€)o (D)8

ks s $U ALSA Ue-A AR B: 40, 20, 20, 30, 60, 150, X. X +{L (Zu eliwal AR [@Aai-ll yc 82
(Qei-l:

1. UL €35 2A0€ RUILLSLR, LRSI -l ARALG (F12AAL AALYAA 2UAAR B,

2. U-ui 2 43 GURLLSIR, UriRlddH, AU 2 AUl 3522 (2,2.5 244 3) A3 ARUSIR 20 B.

(A) sset [QAuL 1URd B, U, S5t (At 2 Yrd] -2l
.@3\1 (Qui 2 YRd 8, Udd, 5l (At 1yRd -l

(C) 6iri [Aui-l 2012 URdL B, UL €25 AL YRdlL 2]l

(D) €25 [Qui e yd 8.

AR UL [QuiAiAL 20014 $3L G AL,

2f y s Yl 2ivuL 82

(RdeA-1: p/5 SRl 2ivaL L.

(Rde--2 : 5p BLyel v §.

241 Ut 2 Ade-i-AL 2ieeiui DA-uniz 53 2012 B2

(A) 8ct AAEA-1 USI-lL A6l BUUAL HIZ YA B,

(B) &8ct (RAert-2 USt-ll Scllol 2UUAL HIZ UATH B,

(C) RAeA-1 214 RdeA-2 il Uil %cALel BUUAL HIZ UATH B,

.Ft?ta—tq L (FAert-2 6im WS-l AL UYL WIS WAL 2L

~ ~N oS

6L Weldlall, A 24 B, 218 UL 2unini el dldl edl. ARl ASeul2Hi 80% WAL 3n
Ul ¢, 2 SIS UL ASIdL SIS AseudlA An BLIL Asidl. A 3l el VAl gl sHAdL 6

-

WS2AMIR 40% WS- sHIAL 4 120 WS4l Yeall. dl ALl As™lAl-) o 20vuL Jedl 82

.750 (B) 1200

() 960 (D) 500

18 | [BMN] [Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight


45.

46.

47.

48.

49.

The letters of the word 'MISUNDERSTANDINGS' are arranged alphabetically in reverse order.
How many positions of the letter/letters will remain unchanged?

(A) None .One
(©) Two (D) Three

If7x6%x2=12,9%x1%x3=9,11 x7 x 2 =10, then what is the value of 13 X 6 X 5?

@12 (B) 30

©9 (D)8

Question: A sequence follows a specific pattern: 40, 20, 20, 30, 60, 150, X. Can we say both
statements given below are sufficient to find X value?

Statements:

1. Each term in the sequence follows a combination of division, multiplication and addition
operations.

2. The pattern includes division by 2, repetition, addition and multiplication by increasing factors
(2, 2.5 and 3).

(A) Statement 1 alone is sufficient, but Statement 2 alone is not sufficient.
.Statement 2 alone is sufficient, but Statement 1 alone is not sufficient.
(C) Both statements together are sufficient, but neither alone is not sufficient.

(D) Each statement alone is sufficient.

Consider the Question and two Statements given below:

Is y a whole number?

Statement-1 : /5 is not a whole number.

Statement-2 : Sy is a whole number.

Which one of the following is correct in respect of the Question and the Statements?
(A) Statement-1 alone is sufficient to answer the Question

(B) Statement-2 alone is sufficient to answer the Question

(C) Both Statement-1 and Statement-2 are sufficient to answer the Question

.Both Statement-1 and Statement-2 are not sufficient to answer the Question

Two players, A and B participated in a gaming competition. 80% of the registered participants
played the game and there were no disqualifications. No participant skipped the game. A scored
40% of the total points earned by all players and won by 120 points. What is the total number of
registered participants?

@750 (B) 1200
(C) 960 (D) 500
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50. i3 HougRHIAL A AL [Gi-20R AURIAL GUADRL $AA Gl-2igiR-Al 518 oi-iadi-l Adi-) 2vaut
Sedl usl?

(a) 260 (B) 320
.420 (D) 380

51. 6l U@l-il uRaRui & A0l 8: P, Q, R, S, T, 24 U. WRAIRHI AR Yull 24 AL {241 8. uRaieui 6l

-

[QeulS L8l 24 6l A QS GUS-61SHL B.
(GEIEE

LUNP-ALYAS, 244 QAR -l 202 B.

2. TA QS YU 8, 24 S A y>u 8.

2l URarRA1L 2002l dRAAAL AL {6y 455l s2dl 25U B?
(A) sset [QuI 1URd B, U, S5t (Al 2 YRd] -2l
(B) &t Qa2 yed 8, udd $5el (At 1uRd -2l
(@) D 0l yon B, udg Rs 2uaa Yl ).

-~

(D) €25 [Qui e yd 8.

-

52. 40 WALl A5 adnui 6lsL B, A duizll s (Watdl-1) WA 2l 8. 2ls- alduiondl Rouni s Ue-
HOL URAIR SRaALML 2D B: WALSL-1 drl WALSl-2 WAL URAIR 53 B, WALSl-2 d-l WaLl-4 Wl UUR $2 ),
VALSl-4 drl VALSL-7 WA UAIR $3 8, UL UM %1 8. UL S2ALULRAL (UAH VAL A(S ) Ul 2is- g2l
VALl-1 UL UL 2098l?

(A) 14 (@):5

(C)16 (D) 17

53.  SuAdlMi sHASI A, B 244 C-lL 232121 HURS WdUR 40,000 8. sH01220 B, D 244 E-ll 23212 HIRLS

-~

waUR 342,000 8. 5L -l udLR sHA1 B F2dl % 8. A, B, C, D, E 1L F-il 32121 HRLs WduR 8 872
(A)%40,500

(B) 40,800

.?41,000

(D) 321 24yel Slarel Ashl s3 2usid -l
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50.

51.

52.

53.

What is the number of ways to form a two-letter code using distinct non-vowel letters from the

English alphabet?
(A) 260 (B) 320

@)+20 (D) 380

A family of two generations consists of six members: P, Q, R, S, T and U. The family has three

males and three females. There are two married couples and two unmarried siblings.
Statements:
1. U is P’s daughter, and Q is R’s mother-in-law.
2. T is an unmarried male, and S is a male.
Is it possible to determine the correct relationship among the family members?
(A) Statement 1 alone is sufficient, but Statement 2 alone is not sufficient.
(B) Statement 2 alone is sufficient, but Statement 1 alone is not sufficient.
.Both statements together are sufficient, but neither alone is not sufficient.

(D) Each statement alone is sufficient.

40 players are sitting in a circle and one of them (Player-1) has a token. The token is passed
clockwise in a specific pattern: Player-1 passes it to Player-2, Player-2 passes it to Player-4,
Player-4 passes it to Player-7, and so on. After how many such passes (including the first player),

will the token return to Player-1?

(A) 14 @15

(©) 16 (D) 17

The average monthly salary of employees A, B and C in a company is ¥40,000. The average
monthly salary of employees B, D and E is 342,000. The salary of employee F is equal to that of
employee B. What is the average monthly salary of A, B, C, D, E and F?

(A) %40,500

(B) %40,800

@z41,000

(D) Cannot be determined as data is inadequate
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54.

55.

56.

57.

58.

i 130 (Qaueil2i-l 2is scani, 80 Qailil 2182 A Hidl 8, 244 cudl-t 50 Qa2 282 B il 8.
selLAHi o 80 [Qanellail siiRdeolld 23l 213 8.

(Queu-i:

1. 82 B izl 2ilewmi 20leL 30 Qa2 cuszeild 3l o3 8.

2. A8 A Hiall 50 s2cll ay Qa2 cusdeoiic 23 Asdl 2.

2} 2182 A uizll 32t [Qauelil cuszolle 3l o3 8 d 485l s 2 B2
(A) sset [QAuI4 1URd B, U, S5t (At 2 YRd -2l

(B) &t [Qrurt 2 yed 8, udd §5el (At 1URq -l

(@i Ra-ll 208 Yot B, udq R vl yrcL ).

(D) €25 [Qui AL ud 8.

s AR AlRA LSl 218t sl UL B. WAL M- 51201, €35 oLl dous d-l Alrd[s s& s=dl
3% WISl WU 201D 8. 2L 218 e1AL ARLADL s AULE) (AUl 25112 oid S2dl 872

(8) 3% .6.09%

(C) 9% (D) 9.06%

~ AN

s Sull £ A 104 e d-ll alfils WRHE A% 8. 2024 AL, WRNE orAlR s sdl. HAwi-2 2Ll
U3 B35 2023 HiuRue sl ol WS sl 10 Fes 2023 2 A6aU3UIAL s [BA wdl?

(A) Q@R .&imcue

(C) AarnarR (D) ar>au?

GlsAUL 5 AHIA A B % SALS €16 350 (GlR812 6i-udl 2% 8. 2L €3, 8 Al % dd- 3 SALSHL 26l
(1812 oi-ndl 2u5?

.1680 (B) 2100

(C) 2800 (D) 3360

ARAAL 2L [AUL “2” UL UR 58 (U 2419817

5564\

(A)6 (B)3

© s

22 | [BMN] [Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

Dell
Highlight


54.

5S.

56.

57.

58.

In a class of 130 students, 80 students are from City A and the remaining 50 students are from
City B. A total of 80 students in the class can play basketball.

Statements:

1. At least 30 students from City B can play basketball.

2. Not more than 50 students from City A can play basketball.

Is it possible to determine how many students from City A can play basketball?
(A) Statement 1 alone is sufficient, but Statement 2 alone is not sufficient.

(B) Statement 2 alone is sufficient, but Statement 1 alone is not sufficient.
.Both statements together are sufficient, but neither alone is not sufficient.

(D) Each statement alone is sufficient.

A carpenter is cutting square wooden tiles. Due to a measurement mistake, the length of each side
is measured 3% larger than its actual size. What is the percentage error in the calculated surface
area of these tiles?

(A) 3% @)6.09%
(C) 9% (D) 9.06%

A company hosts its annual conference every year on 10" July. In 2024, the conference was held
on a Wednesday. The management wants to know on which day the conference was held in 2023.
Which day of the week was 10" July, 2023?

(A) Sunday @)Monday
(C) Tuesday (D) Thursday

A bakery with 5 identical ovens can bake 350 cookies per hour. At this rate, how many cookies
could 8 such ovens bake in 3 hours?

@1650 (B) 2100
(C) 2800 (D) 3360

Which one will replace the question mark?

556 /A\
22| 2| A\

(A)6 (B)3

©7 (D) 8
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59.  lR-unioll qRid-2eyo (A2l o 012] B2
(A) d ogriL 2UELALE ASMUL S dSAUR B.
(@)1 oz Gull sau 27 AimeiRLs AUE AL UdLS L.
(C) A=l GuRd SLSL ANV £R(R1ALA AL ALl Scll.

(D) dail wuauid 2udLUd SRALAL Sdll.

60. -2l [Qe-l qirll oot Al satoL 24l
(Cueutil:
1. €35 viRell-l (Sud-ll 3is gl T500 B.
2. ARLvRell2AIAL s (Bud 6L vieeil2ii-l o (SUd $2di 32000 ay 8.
10 Aui- viRellaiiAl g (Sud of w22
(A) [Qr- 1 356 AR B %R 2 s uAlH -2l
(B) (At 2 ise, uald 8 “UR 1 3156 ualn 2.
@i Al Qe 12020 2 waiu B,

(D) [Reurt 1 249 2 Gid uauln .

61. i ([Qru-i A |l

-

1. APV 2UAS 2 AULR ASIAL AL AHAALT 212201231 AL 2019 D,
2. $OUAL UL GIRI% UL AL AsHAS] 42l 2uRst-L SAN 2ud B
GuR U 52/ sui [Qui-/[@Qui-l 01)/201 82

.{x&d 1 (B) g5t 2

(C) 1244 2 6 (D) izl 2is uBL S

-~

62. -DA-uidl 53 [Quid viig 82
(A) s yeuat-L (GVA) 2032 2l s ALRLs BisHl oL el Acl 2uasd Wil B,
(B) 42lcAAnl sclmi 2iddl ditd vl GHAA e 2AidRs Uelel (GDP) Adauni 2ud 8.
(C) GDP 2wl s2 A1 GHRAM 2UAL GVA GlRIGR 8.

@)cva ARxRell-w2ufs weait-Dl qa-il s2ami neegu wia B,
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59. What is true about Vasant-Rajab?
(A) It is a festival in old city of Ahmedabad
.They were fast friends and symbol of communal harmony
(C) They were freedom fighters during Quit India Movement

(D) They were famous sports personalities

60. Read the following statements and answer the question.
Statements:
1. One-fourth of the price of each chair is I500.

2. The total price of three chairs is 2000 more than the total price of two chairs.

What will be the total cost of 10 identical chairs?

(A) Statement 1 alone is sufficient while 2 alone is not sufficient
(B) Statement 2 alone is sufficient while 1 alone is not sufficient
.Either Statement 1 or 2 is sufficient

(D) Both Statements 1 and 2 are sufficient

61. Consider the following statements:
1. The study of national income and business cycles falls in the domain of macroeconomics.
2. The study of inflation and unemployment falls in the domain of microeconomics.
Which of the statement given above is/are correct?

.1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

62.  Which of the following statements is incorrect?

(A) Gross Value Added (GVA) captures the income generated by all economic units across the

country.

(B) Gross Domestic Product (GDP) is obtained by adding all expenditures carried out in the

economy.
(C) GDP is equal to GVA added with net taxes.

EVA is helpful in comparing economic performance of various countries.
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63. ouRANl RISURE 2152l 28Rt (STT)-L 2ieoinl DAL (Qui-ll e dl:
1. STT i 2 AL(ALS 221 BUgRAA UR SAIML LAl UASIRLUR ALEAUM 2l S 8.
2. STT is Ul $2 ©.
3. STT GURA ABSLR UI2 2Ls FAA2S GlRL AUs[Fd sl 209 8.
GuR UL s/ sui [/ [@Qui-il RL/RE B2
(A) sscL 172 .@3«1%@3

(C) g&ai1 (D) §5ct 2 244 3

64. U%FciRul RBIS 2U5$ 2A-UHd WHIRL (CRR)ML 8218l sUL 8. 2L UsIR- udte] 6istA AR-unizll sul stRe-L
Al AirAL AUl 82181 saL WRd 53 8§?
(A) RBI 211t wHIRL (ARG 82 8.
.(»‘i&?ﬁ SISWRL QrLRLAL VR QAL AHIRUAL LS HAL B.

-~ ~

(C) A GiSi-AL SIHANAAL vl e1213 B.
C

-

(D) CRR-L 2014l 2{6it Ui 32 2013 8 dell CRRUL 82151 2Ul 32 24 (B21911L <A1% €211 URL 8218l $23l.

65. -DA-uuial $3 Aid vl 3B Ad wrvARd 52 B2
.ailu'm w1l A GeULer-ll AHUIRLAL BLsHAL S1REL 6 WML F51R B.
(B) 20t w2l 3 g vil A AR WRL QAL dglad B.
(C) 20 ict vizl A g vl 24 AN VLA AU B.

-

(D) 203ict Wl 1 A2l 2URAR A AR (RAR VAL ARA .

66. -NA-uidl 53 8RS LS| el AAL?
(A) MidL 2ivaimi wleeldl A1 GRS AL Sl
(B) U1l et AR
(@)cus 213 Ganert Felu-dl cieiani T2 42 dla uzauz Reldl

(D) Gt [Ruacttd $1281 dALRL VR 1Sl

67. DAzl sl udainl elRdul ARLLEL ALl uersitla-llcRil 2ada ei-idl?
(A) 1969 21 1980Mi Gissi-{ ABUSREQL
(B) 1991-92ui 6i-51-{ vii-dlls2EL
.1994ui RBI 12U 1Sl vl 2aAL(Cc (@Rt watld 2HH s2dl

(D) -weuéla U G- 2L 241 20164 §UA ABALS FUASA Uil
D2
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63. Consider the following statements with respect to Securities Transaction Tax (STT) in India:
1. STT is a tax levied on transactions carried out on the domestic stock exchanges.
2. STT is an indirect tax.
3. STT is collected for the government of India by the stock exchanges.
Which of the statement(s) given above is/are correct?
(A) 1 and 2 only @)1 ana 3 only
(C) 1 only (D) 2 and 3 only

64. Recently, RBI has decreased Cash Reserve Ratio (CRR). Such a step may allow banks to cut the

interest rates for loans because of which one of the following reasons?

(A) RBI controls the reserve ratios

.Banks get additional funds without any additional cost
(C) It decreases banks’ cost of operation

(D) It is directly related to repo rate and therefore a decrease in CRR will also decrease repo rate

and lending interest rate

65. Which one of the following best defines marginal cost?
.Marginal cost is the change in total cost due to an additional unit of output produced
(B) Marginal cost is the difference between total cost and average cost
(C) Marginal cost is the summation of total cost and average cost

(D) Marginal cost is the summation of average variable and average fixed cost

66. Which one of the following is not a feature of monopolistic competition?
(A) Presence of large number of buyers and sellers
(B) Free entry and exit of firms
.Strong interdependence among firms in matters of price and output decision

(D) Presence of selling cost due to product differentiation

67. Which one of the following measures made monetary policy independent of fiscal policy in India?
(A) Nationalization of banks in 1969 and 1980
(B) Privatization of banks in 1991-92
.Ending the practice of automatic financing of fiscal deficit by the RBI in 1994

(D) Setting up of monetary policy committee and adoption of inflation targeting framework
in 2016
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68. 2[Rg- 2Aeoini K& Uy (duty inversion) 8| 82
(@)1G2yz2 s2di s-tyza vz Gt seen 38
(B) 8-1u221 s2cli 216242 U2 G $22H Y24\

(C) 3oyl Beliniall 241l UR G 522U U8
(D) #ollyl Bolinizil 2utd uR UL 524 S48

69. -3l [QuiAl 21 @l
1. sl gaua (Core inflation) Hivital Uelell 24 BHQL-AL Glc-lL AL AU B,
2. SSALS éOLLd?L (Headline inflation) bii2Ls -l SURIAL GLIAA GULSL AV &,
GuR UL 53/ sul [/ [Qui-ll Rl/Ri 82

(A) g5 1 (B) st 2
(C) 121471 2 6iAd .(-i:mlzil A5 ueL AR

70. AL Quil 2u- Al
1. [Qsurll 6 dRcll-ll 17.7% GURAML € .
2. 1966 UL §261 (RAi7geil YleAls~t AUl HIZ s 2421 [Qenot-l 22ru-L s 241 el
3. AP 4l [, 2000l dicu duou-l B2ed 2070 AU drdl- RAR sAU-AL .
GuR UL s/ sul [/ [Qui-ll RL/uRE B2
(A) 5L 1273 .gsdwﬁz
(C) gsct 2143 (D)1, 22443

71, AL [Qui-l A QL
1. WRIUIAL BUASHL AHIRLAL $IREL AURLRL VRAHE AHIRL HPL-WRA goudl-] s126L oi-il 203 8.
-
2. Acll £ AHLRLAL $1201 Gulert VRHi At 2]l wl-URd §:>uci1 U 2AS .

GuR U\ 53/ sui [/ [Qui-ll Rl/Ri 82

(A) g5 1 (B) &5ci 2
.1 247 2 6id (D) witaiell s wel AR

72, DRAAUMiR) 53 2iYsd A (UN) A1 UL FLSLRL 210 Sl ARl 53 87
1. GURCL RAUSTL AL AMUS ACALMI- s ©.
2. GURA YA YR8l URYE (UNSC) - staal 20 8.
3. eURd (A MM Y-l 2Urs il ARl SN AldLet 2 B.
4. GURA URHLGL 2AUAIR A& (NPT) - 278l 20l 8.
A2 UL SLSAL GUAIL S ALY Lol URie S2U:
(A) g5t 1, 22249 3 @)sst 1243
(C) s5ct 2 24 4 (D) g8t 1, 34 4
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68. What is duty inversion in context of tariffs?
.Higher customs duties on inputs than on output
(B) Higher customs duties on output than on inputs
(C) Higher customs duties on imports from friendly countries

(D) Lower customs duties on imports from friendly countries

69. Consider the following statements:
1. Core inflation includes the prices of food and fuel
2. Headline inflation excludes the prices of food and fuel
Which of the statement(s) given above is/are correct?
(A) 1 only (B) 2 only
(C) Both 1 and 2 .Neither 1 nor 2

70. Consider the following statements:
1. India accommodates 17.7% of the world’s total population
2. In 1966, a separate department was established to promote family planning
3. Long-term objective of National Population Policy, 2000 is to stabilize the population by 2070
Which of the statements given above is/are correct?
(A) 1 and 3 only @)1 ana 2 only
(C) 2 and 3 only D)1,2and3

71.  Consider the following statements:

1. Increase in consumption expenditure resulting from increased disposable income can cause
demand-pull inflation

2. Increase in the cost of production resulting from increase in wage rate can cause cost-push
inflation

Which of the statement(s) given above is/are correct?
(A) 1 only (B) 2 only
.Both 1 and 2 (D) Neither 1 nor 2

72.  Which of the following correctly describes India’s engagement with the United Nations (UN)?
1. India is a founding member of the United Nations.
2. India is a permanent member of the UN Security Council (UNSC).
3. India has contributed to multiple UN peacekeeping operations across the world.
4. India has ratified the Nuclear Non-Proliferation Treaty (NPT).
Select the correct answer using the codes below:
(A) 1,2 and 3 only @)1 and 3 only
(C) 2 and 4 only (D) 1, 3 and 4 only
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73, DRAUHiA S8 AdHIA DU AIBARHL 213 SAACAL SIAsH AHA (B8l S0 AHUAR sAMi 2] B?
1. Ad (Rlau 2R
2. AW WA us (e a1
3. SR A S2AA
Gu2 U$l sui i B?
(A) st 1244 2
(B) st 12443

(C) ssct 2 244 3

. .1,22»@3

74.  GURANL 8-51225AU1 1SR wi-2Ll eelletd) (PPP) (A2l Al (Qaui-l 2uq @l

-

1. PPP 3601+l il 24 Wi st Fam- Argusisiaa-l 2UEs oloidi-i [AeoL gL sami 204 8.

2. PPP 21 b0l 24 oSR UL 4R il sLnail 2018) Ald carvulfd 52 8.
GuR USL 53/ sl [Ari-/ (-l uRl/2uR1 87

(A) g5t 1

(B) gct 2

(@) >7 2 o7t

(D) si-iniell 2is wal Al

-~

75. DRI 5% [ArLA HLRAMHE SLlRA HH G-l ALRHL VIS B2

-

(A) wafLs GAn stlRd A sl At Wi WL 8.
.atéél @acAimi 2AELs AANL 1R sM sLo-ll A1) 2L (32211 B.
(C) it (QRctirui sl 33 6L e WRARLS gAML A1 8.

-~

(D) 2utadizgt-l 232ilctel WAMS SAHL SidRd UM 61+l 251Udui e21dl 2l 8.

76.  QURA ATUALR [As1A A1 d@lE HAdl il sd it (A2 AlA-niel s34 Qe 21 B2
(A) 2ud) AlAAL GUALRL UL Srg ASLR % S 2AS O,
F'ﬁ A AR Gid 21 AlAAL GUAIRL $3L 2AS 8.
(C) 20l QAL GUAIRL $rg;, A%RAL L % VALARLL 8oL GLRL S ASIA B,

(D) d-ll GuAdL §&el AMLRES @AM AS 2AS ©.
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73.  Which of the following existing schemes have been subsumed under the recently launched program

‘Samagra Shiksha’?

1. Sarva Shiksha Abhiyan

2. Rashtriya Madhyamik Shiksha Abhiyan

3. Teacher Education

Select the correct answer using the code given below:

(A) 1 and 2 only (B) 1 and 3 only
(C) 2 and 3 only @)1, 2 ana 3

74. Consider the following statements regarding Public Private Partnership (PPP) in infrastructure

in India:

1. Policies and projects under PPP are regulated by the Department of Economic Affairs, Ministry

of Finance
2. PPP has well-defined allocation of risk between the private and public entities
Which of the statement(s) given above is/are correct?
(A) 1 only (B) 2 only
@ Both 1 and 2 (D) Neither 1 nor 2

75.  Which one of the following statements is incorrect with regard to the workforce employed in
India?
(A) The primary sector has the largest proportion of workforce employed
.In urban areas, industrial sector has the largest chunk of workforce
(CO) In rural areas, workforce is primarily engaged in the primary sector

(D) Since the beginning of planning, percentage of workforce employed in primary sector has

decreased

76.  Which of the following statements is correct about the external concessional loans that India gets

as Official Development Assistance?

(A) Only Central Government can use such loans

.Both the centre and states can use such loans

(C) Such loans can be used by the centre, states as well as the private sector

(D) They can be used by only social sector
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77.  Audal-dl RAMIA qrq-l Hidl 24 YRS ol uHIRLAR 48 B, Ad) Audal-dl (Bud 2 Gele--L Aot
DAl s wRRUH Al ay AMEAA B?

@)2v1qc-) Gud cieeud) 4ol udq Gaue 4l 8.
(B) angeti-ll (3ud 244 Geute-t vid qual.

(C) 2udeu-dl (Sud 21 Geuled i 22l

(D) (Sl 21yl Slautell §8 sl st AL

78. Al [QuiAl 21 dl:
1. UAAUAUL i SLALA AOAL WIS SIS SIS - Scll.
2. Allc AN ALY DigsIEl- AAL S,
3. RS %L W2 ALl edl 8.
4. \DU(a U020 WL A% Wi ALl el ol ).
GuR UL s/ sui [/ [Qui-ll Rl/RE B2
(A) 55t 1244 2 (B) s&ct2 24 3
(C) 55t 3 L 4 @)1, 2,334

79. DRl [Quu-l LA dl:
1. MM RATRIHI 2121t oflont 53 2Alel) 1L B-aliat 232 SRR s Wisge (GSDP) 2eiitiz u1d 8.
2. -2} 24~ GSDP 2Lilivi2 wRlet -usla Rl eauld 8.
GuR U8 s/ sul [Aa-/[Qui-ll Rl/20Ri 82

.{x&d 1 (B) g5t 2

(C) 124 2 6 (D) izl 2is uRL S

80. lA-uuidl 53 (ArdeLs1dl oSl Al A8 Ad wrvARd 52 82
.ucu_&t A UL 2 £ €Ll A NS ViR(HL AU
(B) wcual 215 uBial 2 £21ui &l21Sl U NS wRlHL 8218l
(C) Wcugt 24 UL $2 £3AMI AUIRL AU 2SR WRAN| 82LSl
(D) Wedgt 24 URgL 52 ¢RAHI AL A SR WRAHL qrLdl

81. 1956+ RS AL 5214 @dlcl (A8 DAL Qai-ll 2uA di:
1. L AUl ). 2AL. w6l W uR UELRd sdl.
2. UL UM ALl 24l HexH GEDLL 2AMNAL UR BUR HSAUHL 241l wll.
3. 21 Al GLUA ARL 3221311 @il sReuui LAl Sl
GuR USL 53/ sl [Aui-/ Q- uRl/2uRi 82
(A) ssct 1214 2 (B) ssct 2 244 3

.gsrum?w (D)1, 23
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77.

78.

79.

80.

81.

From an equilibrium position, demand and supply of a commodity increase proportionately. Which
one of the following is the most likely outcome of this situation with respect to new equilibrium
price and output?

.Equilibrium price does not change but output increases
(B) Both equilibrium price and output will increase
(C) Both equilibrium price and output will decrease

(D) Nothing can be said as information is insufficient

Consider the following statements:

1. Planning Commission had no provision for part-time members

2. NITI Aayog has a number of part-time members

3. Planning Commission framed policies for states

4. NITI Aayog does not have the powers to frame policies for the states
Which of the statements given above is/are correct?

(A) 1 and 2 only (B) 2 and 3 only

(C) 3 and 4 only @)1, 2,3 ana 4

Consider the following statements:

1. Gujarat has the second lowest debt-to-gross state domestic product (GSDP) ratio among all
states

2. A low debt-to-GSDP ratio denotes an unhealthy financial position
Which of the statement(s) given above is/are correct?

.1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Which one of the following best defines an expansionary fiscal policy?

.Decrease in direct and indirect tax rates and increase in public expenditure
(B) Decrease in direct and indirect tax rates and decrease in public expenditure
(C) Increase in direct and indirect tax rates and decrease in public expenditure

(D) Increase in direct and indirect tax rates and increase in public expenditure

Consider the following statements regarding Industrial Policy Resolution of 1956:

1. This policy was based on P.C. Mahalanobis model

2. The emphasis was on setting up small and medium industries in the backward regions
3. Industries were classified in three categories in this policy

Which of the statements given above is/are correct?

(A) 1 and 2 only (B) 2 and 3 only

@1 and 3 only (D) 1,2 and 3
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82.

83.

84.

85.

86.

DA Qal e di:
1. 2 UL AsARl (st sHIRML scll ay, ST dl Al (s sslRls Siu 8.
2. Al (st $u1RY 21 L SIS A3,

GuR U8\ s/ sul [Aui/[@Qui-ll Rl B2

(A) 85t 1 (B) 851 2
(C) 127 2 6iAd (@) oivinich 3is vl 4R

ARAAL (el 2ud dl:

1. CURANL WAN SEZ -l[ct 200011 2182 AL Ul .

2. SEZ-1l G2 euRdui (A2l 2512l qrieal-l 24 (LRt W2 2AidRATIA IS AUALARRL U ULsdl-l
Sdl.

3. SEZ A[A(AuM 2010 Ui UAIR SRAML BN Sdl.

GUR USL 53/ sl [Aai-/ Q- uRl/2uRi 87

.gsvuu:tz (B) s5c 2 247 3

(C) ssct1244 3 (D) 1,224 3

-~

RBI-L d222 ARusld -la-t aqel (Al N2l [Quil 2uq dl:
1. 22y 4 L AAd 8 RBI si dl 2ul 224l g21sl 31 215 & Al dHi auiRl s31 23 ©.

2. UL AARL AL A AU UALAAH 209, 8 2R §ouci1 i g ol UR Al 2eAAL A3 ST B.
GuR U8\ s/ sui [/ Q- Rl B2

(A) 851 (B) st 2
.1 247 2 6id (D) oiaiell s weL AL

QURAHL HIA ARl (A2l Al [Qui-lL A Al

1. A QAURADAUAL D15 G2d %Il HUASL %3l Huf@st wiiedl Vigdld 2wl sl
2. ¥l QELR1AAL URRUH 2Us(3a wisi- vidlui a2isi 24l 8.

GuR US\ s/ sui [/ [@Qui-ll RL/ R B2

.gad 1 (B) s5cL 2

(C) 124 2 6id (D) si-iniell 2is wl Al

-~

ARIERL deli-it ied (AR DAL [Qa-ll 2uA dl:
1. AR 510 2 2UALA AL VLA Bl 209 8.
2. WSl vl s dR§l udlsl Aluami 2ud 8.

3. AlG Wididl YRid dHal 33l vitdi-l vl siueR $iu 8.
GUR USL 53/ sl [Aru-/ (-l uRl/2uRi 87

(A) 55t 144 2 (B) s&ci2 24 3

.@mlm?w (D)1,2 243

34 | [BMN] [Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight


82.

83.

84.

8S.

86.

Consider the following statements:

1. Net exports are positive if import payments are more than export earnings
2. Net exports can never be zero

Which of the statement(s) given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 .Neither 1 nor 2

Consider the following statements:
1. The first SEZ policy in India was announced in 2000

2. The objective of SEZ policy was to increase foreign investment in India and to provide an
internationally competitive environment for exports

3. The SEZ Act was passed in 2010

Which of the statements given above is/are correct?

.1 and 2 only (B) 2 and 3 only
(C) 1 and 3 only (D)1,2and 3

Consider the following statements regarding neutral monetary policy stance of the RBI:

1. A neutral stance suggests that the RBI can either cut repo rate or increase it.

2. This stance is typically adopted when the policy priority is equal on both inflation and growth.
Which of the statement(s) given above is/are correct?

(A) 1 only (B) 2 only

.Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements with respect to land reforms in India:

1. One of the objectives of land reforms was to pass on the ownership of land from landlords to
peasants

2. Land reforms resulted in decrease in the cultivation of cash crops
Which of the statement(s) given above is/are correct?

on on
1 only B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements with respect to the balance of payments:
1. Exports and imports of services are recorded in current account

2. Unilateral flows are recorded in capital account

3. Current account surplus always equals capital account deficit

Which of the statements given above is/are correct?

(A) 1 and 2 only (B) 2 and 3 only

@1 and 3 only (D) 1,2 and 3
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87.

88.

89.

90.

91.

ARl [QuiAl A Qi

N AN N -~ -~

1. souclld (RIBid s2aL W2 RBI Ul 32 g21sdl s,
-]

N e

2. HAA Ui angl HIZ A812 Uld -l WRl qu il SN,
GuR U\ 53/ sui [/ [Qui-ll Ri/Ri 82

(VEL R @ s 2
(C)1 2 6id (D) oiduidl 2is uet S

199120 GURANL ARIERL-] deti-ll LR 2HRider HIZ AAAniR]) $3 uRoLn FaoLelR AdL?
(A) [y siRRUAR AL A AU UALAHE ArLRL

(B) %l watsHi a1l

(C) 215 AARL] AAHEIA, VLA S AR UL A5ARI (st sHLell sl Ay, Sl
.eau(?t& AR e, LA S 2R UL A5ARM (st sHIRD sl ay ST

Drrniell s2/sui eudHi Ucugl [A2eil AU ARLS LRI 2uaL?
1. euRaui (el su-dl2ii-l Ut Su-dl2il

2. euRdla Su-laiini stgudl (@22l (58 sl

3. UigsiQal AsiaL

GuR U\ 83/ sui [/ [@Qui-ll RL/RE B2

(A) ssct1 2443 (B) ssct 2 244 3
@ssc1232 (D) 1,244 3

-

Dol 53 (Qui- viig 872
(A) 3l 32 214 Rl 3l 32 31 2w AL WRRIAS Atd-lL 8.
(B) 2153 -l UHIRLHI AL Acuie]l 2L A%F-H1 &L Sl AL

Y -~ . -~ c . -~ -~
(C) deufAs ASSAL WHLRLAUL E12LSL AL AT AF-HL ALRL AL

.é‘tss DAALHA PHLQL AL AUUAS U5 SAL WHLGL L 2Uv (FRIARIAL ALRUAS AL~ .

(Riy vile-l 2izgla (Qel AL Qa2 dl:

1. Ry vl 61 wiRllA 2201, €50l 2 HISHL - €314 Geuir 16ROUL sAUML 2 s

2. 21 A3 Arglar ustami aidl, ¥ uddi ‘Riy vilewl 2l afls 2tnvidl edl, udd ay aai-l
2liaA 51281 dr ‘(RiY 2iglc’ a2l 2lovuaini 2udl sdl.

3. drll UAN AL A uRA) A5(ALs Ad dA ‘50 isl’ adls 2t B,

GuR USL 53/ sl [Ari-/ (-l uRl/2uRi 87

(A) gt 1244 3 (B) §5¢t 2

.gsdzm{-13 (D)1, 23
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87.

88.

89.

90.

91.

Consider the following statements:

1. To control inflation, repo rate should be decreased by the RBI

2. To tackle recession, the government should increase its expenditure
Which of the statement(s) given above is/are correct?

(A) 1 only @ 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

Which one of the following is not a factor responsible for overall balance of payment imbalance in
India since 1991?

(A) Increased import of goods and services for various reasons
(B) Hindrances in capital flows
(C) Depreciation of domestic currency, especially when import payments exceed export earnings

. Appreciation of domestic currency, especially when import payments exceed export earnings

Which of the following would be considered as foreign direct investment in India?
1. Subsidiaries of foreign companies in India

2. Majority foreign equity holding in Indian company

3. Portfolio investment

Select the correct answer using the codes given below:

(A) 1 and 3 only (B) 2 and 3 only

@1 and 2 only (D) 1,2 and 3

Which one of the following statements is incorrect?

(A) Repo rate and reverse repo rate are quantitative instruments of credit control
(B) Increase in cash reserve ratio will lead to a decrease in credit creation

(C) Decrease in statutory liquidity ratio will lead to an increase in credit creation

. Cash reserve ratio and statutory liquidity ratio are qualitative instruments of credit creation

Which of the following statement(s) is/are correct?
1. Harappa and Mohenjo Daro, the two ancient sites in the Indus Valley were excavated in 1920.

2. These cities brought to light the civilization which was first called ‘Indus Valley Civilization’ but
was later termed as ‘Indus Civilization’ due to the discovery of more sites.

3. Alternatively, it has come to be known as ‘Harappan Civilization’ after the name of its

first site.
(A) Only 1 and 3 (B) Only 2
@only 2 and 3 (D) 1,2 and 3
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92.

93.

94.

95.

(Riy vilu-l 2izgla (Qel A2 [Qui-l ey el:

1. Rig vkl 2i2sld 24 curdii yam w3252 sd.

2. A AR UIRIL-(RLsIe a2 AGNELR HIAWLL 2] AR UL Sdd.

3. AN Yol dAAEL YRl HIOUE ALHLFS AUAULARAL A1 AR .
4. AUIR A ARl 96 20 Vil wafls 20Rs ug (R sdl.

GuR USL 53/ sl [Aui-/ (-l uRl/2uRi 87

(A) gsct 12443 (B) 5u 2

.@3«1,2@@4 (D)1, 2,374

#2d¢. (Al ARAAL (Qu-l - dl:

1. 2de AReduil 1AL B,

2. drf HNRAZU Al Ed USH U HARL SR 1A o
3. 9de dril AL AU, v 2L Sl

-~

4. BdAeui (Qlay edl-eaciaii-l 2dlaui 2dli(sdl) 8.
GuR UL s/ sui [Aa/ Q- Rl B2
@)ssct1, 22474 (B) s5ct 14 3

(C)1,2,3244 (D) g5t 2 214 3

-~

apgRUAML o1, 26118) U iRl 2] B2
(A) @nlail

@)erzasm- dclail

(C) nLsLstu-Al a2l

(D) u2u2wtd el

IgRUAAL UIURIPLA Sell 203Ul (A2l lA-inizll 53 (A 21 82
(@i 3 dpRini disBiu 218- 518 s1us seL d.

(B) careell Rasiusdl Geatct sl 2L dl.

(C) nyoi-l st 1 d2ud-Al As Yvuld Alssal 8.

(D) sus 21 d2ld-d sl et 23U 8.
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92.

93.

94.

9s.

[BMN]

Which of the following statements is/are correct?
1. The Indus Valley Civilization was the first urbanization in India.
2. It had a well-planned drainage system and grid-pattern town planning.

3. The society followed a strict hierarchical structure with social inequalities.

4. Agriculture was the primary economic activity with trade and commerce flourishing.

(A)Only 1 and 3 (B) Only 2

@oniy 1,2 and 4 (D)1,2,3 and 4

Which of the following statements is/are correct?
1. The Rig Veda is composed in Sanskrit.
2. It was originally recited and heard rather than read.
3. The Rig Veda was written down at the time of its composition.
4. The Rig Veda contains hymns (suktas) in praise of various God and Goddesses.
@oniy 1,2 and 4
(B) Only 1 and 3

(O)1,2,3 and 4

(D) Only 2 and 3

What are Banni, Rabari and Bavalia in Gujarat?
(A) Castes

.Styles of embroidery

(C) Styles of beadwork

(D) Traditional food items

Which of the following statements is true about the traditional art forms of Gujarat?
.Bandhani is a tie-dye textile art form popular in Gujarat.

(B) Warli painting was originated in Gujarat.

(C) Madhubani art is a famous folk art of Gujarat.

(D) Kathak is the classical dance form of Gujarat.
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96. ol stus-l Msi ddls S(Asl' @l i Quiril i dl:
1. 3(Q51 220 susHia) il 2udl 2 A % Re 2uduH eladni dd sd.
2. S@s' Aun euedla 282 sUAs2 uRel Gddl 21 8.
3. (sl YRuni dAlsfia sdi, vl s34 AU, Ul d-l GUAIL Fa-oid qRa Hi2 Adl sdl.
4. MRAUL 3[@ASHL Rsiaml 8218l Woucd 2% ARsR-l 2UABLELSQL 2 2AR8LAUEL AR s1R8L
2l

GuR U s/ sul [Aui-/[Qui-ll RL/2R1 82
(A) gsct 12443

.@3\1 2,324
(C) gsct1, 2 -4

(D) gsctl3 24 4

97.  SL. oll. IR, AICLSSA HSIRA AAYRAL UASALS AL+l At (@A DAL UL 82/ sui [Qa/ Q-
ARY/2A11 B2
(A) 299219 U sALS A2 ST 6L, 2412, LIS sRA [AEaui G (g1 Honadl w2 (Risug(x 20l

(B) SL. oil. 2412, AIGLISR HSIRA AUYRAL ASALS AL ALQUEA sl 2018 Y. . 2L UL Sl

-~

YRR 2001 sUl el

(C) 1S3 52 HA 218U ASIAAL AU ABULES AL ALELA UUANL 24T GIURRLAL HRALL ELSALNL
uee HOWL.

.@ué‘t&u A

98.  HswRLd-Al Anan (Qel A [Qui-l ey dl:
1. HewsRld-Al Anan 31 (el 3oeis el 2101 2121 2A%4- Hidl el
2. grgelle AURS 2ALN Al Scll, FUSL ANAN A 53 o
3. UL ANANA 51281 196041 A%k U HSIRAY DM AL AL 22U+ AS el
4. AREIR ACHMGLS USH ANANAL YV Al Scll.

GUR USL 53/ sl [Aui-/ (-l uRl/2uRi 87

(C) g&ci1, 324

(D) gsct 1244 3
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96.

97.

98.

Which of the following statements are correct regarding 'Calicoes’ as textile exports from India?
1. Calicoes were made from silk fabric and featured intricate designs.
2. The name ‘Calico’ is derived from the Indian city of Calicut.

3. Calicoes were popular in Europe, particularly in England, where they were used for fashionable

garments.

4. The decline of Calico exports from India was primarily due to the industrialization and

protectionist policies of the British government.
(A) Only 1 and 3
@ only 2,3 ana 4
(C)Only 1,2 and 4
(D) Only 3 and 4

Which of the following statements regarding the support of Maharaja Sayajirao Gaekwad III to
Dr. B. R. AmbedKkar is correct?

(A) Sayajirao Gaekwad III provided a scholarship to Dr. B. R. Ambedkar enabling him to pursue

higher education abroad.

(B) Dr. B. R. Ambedkar studied at Columbia University in the USA with financial aid from
Sayajirao Gaekwad III.

(C) The educational support received by Ambedkar helped him to contribute to social justice and

the drafting of the Indian Constitution.

.All of the above

Which of the following statements regarding Mahagujarat Movement are correct?

1. The Mahagujarat Movement was a demand for a separate Gujarat state from the bilingual

Bombay state.
2. Indulal Yagnik was the prominent leader who spearheaded the movement.
3. The movement led to the formation of Gujarat and Maharashtra as separate states in 1960.
4. Sardar Vallabhbhai Patel was the main leader of the movement.
@only 1,2 and 3
(B) Only 2 and 4
(C)Only 1,3 and 4
(D) Only 1 and 3
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AL HIALs 24 MRS yriRRuU-l Anaol (@8l DAL [Aal tud dl:

1. UMARIAGL ANANL Al (Blact, GUlset duy Hau- 2 (S0 Fai HUFS ENRIL £2 $aAL UR MIR
Hll.

2. A7RUAML 2L el ARRA GIRL A SRAUML U AURRBUT dlzs Guzall, 2l (Yrt-uRad-) dnes
212 2AUlL ALGLEA WAL AR,

3. ALyl WL A% QraL Y-, HSa (Blaret 1 2nla Al (Sad s sdl.

4. L. oL, R, AIGLSER AU AUUFAIRNARL ANANAL RAUS Sl

GuR UL s/ sul [Ar/[Qui-ll Rl B2

.{x&dl,zm?ts (B) g5ct 2 247 4

(C) st 1244 3 (D)1, 2,324

MURc1A ABNA ANAN-AL GULRc 24 [QE2UL LRl $ilcstR4L (Al AlRAAL (el A |l
1. YUS2S 2224 A TSIl 2uwde] dLeR WSlHL St euRdui (G2t 2t Gueid) Tl sdl.

2. oLl A 2AgeAuiR 1L [S-gcir Alull@ze Rulos iRl (HSRAML Adlgu A6l
Scll, B3 silAs18 UYL Lol AL WH SALL WAL SAL.

N N

3. YUHRIG 6113 83U A2le UHT (INA) Aqgval 2AGUER] 3 20UE A (Gl 6il%
(Fratias st e .

A 2B s

4. HSIALL UL AAS5LR-L ANAN A1, ASOUAAL UL Scll, FL A% 2lA-L A1H U(SAS UlASIR UR IR
Hyll el

GUR USL 53/ sl [Aai-/ (-l uRl/2uRi 87

(A) st 1244 2 (B) 8&cl 1, 2 24 3

(C) g5t 2, 32 4 .1, 2,3 4

gl Ry vilel 2ig(c -l 2ioiy (A2l A Qui-l 2u- dl:

1. dlad, Uizl (A1) A3l 2 291y Fai AT AAAL GA YR 53 B 3 AU @2 4000 AX
usai 232 2igla- 2is cuoL sd.

2. 529 UL ALRIPULHELSHAL 2AUL 241 vietdHl HRLSL ot dasFs @iy vilaL 2Arglanial GanRd
scLg (AL A2 ARAAL €211 B,

3. llAd s AUl RULS AUIR o, 24 YAl Ad B F 2L WEAMT RS ug(d 2uor 4t 19 B.
4. %R Riy vl 2ARgld-d 212 220 Qloudlal drl Avuis-L 202021 24 21290 HI2 R0l sd.
GuR USL s/ sul [Aui-/[Qui-ll Rl B2

.{x&dl,zm?ts

(C) st 2 2 4
(D)1, 2,324
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100.

101.

Which of the following statements are correct regarding the Religious and Social Reform Movements
in Gujarat?
1. The Swaminarayan Movement emphasized moral discipline, devotion and the eradication of

social evils like alcoholism and violence.

2. Arya Samaj, introduced by Swami Dayanand Saraswati in Gujarat, promoted Vedic teachings,
Shuddhi (reconversion) and the abolition of untouchability.

3. Prarthana Samaj in Gujarat advocated for widow remarriage, women’s education and

caste equality.
4. Dr. B. R. Ambedkar was the founder of the Swaminarayan Movement in Gujarat.
@ only 1,2 and 3 (B) Only 2 and 4
(C)Only 1 and 3 D) 1,2,3 and 4

Which of the following statements regarding Indian Revolutionaries in India and Abroad during

the Indian National Movement are correct?

1. Ghadar Party, founded in the United States and Canada aimed to overthrow British
Rule in India.

2. Bhagat Singh and Chandrashekhar Azad were the key members of the Hindustan Socialist
Republican Association (HSRA) which sought independence through revolutionary activities.

3. Rash Bihari Bose played a crucial role in organizing the Indian National Army (INA) before
Subhas Chandra Bose took its leadership.

4. Mahatma Gandhi was associated with the Non-Cooperation Movement which emphasized
non-violent resistance against the British rule.

(A) Only 1 and 2 (B)Only 1,2 and 3
(C) Only 2, 3 and 4 @)1, 2,3 ana 4

Which of the following statements are correct regarding Gujarat’s connection with the Indus Valley
Civilization?
1. Excavations at sites like Lothal, Patan (Somnath), Rojadi and Rangapur have confirmed that

Gujarat was a part of the urban civilization nearly 4000 years ago.

2. The pottery forms in Kutch and Saurashtra and bead-making techniques in Cambay (Khambhat)
show similarities with excavated artefacts from the Indus Valley Civilization.

3. Lothal was a significant maritime trade center, and evidence suggests that maritime activity in

the region continues to this day.
4. Dholavira, another major Indus Valley site in Gujarat, was known for its iron tools and weapons.
@onty 1,2 and 3 (B) Only 1 and 3
(C) Only 2 and 4 D) 1,2,3 and 4
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H[RAN ALRALAL AU USHIAL 22Ul URURALA UL (A2l 2L (Qe-l LA dl:
1. AgRLclrl AN sl FRe SidRRll, ueae-l nsilail dHy SHIRAINL [Qagd et HAU HA B,
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@B A 2R S
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-

wouldd sdl.

GuR U\ s/ sui [/ [Qui-ll Rl B2

.gsvtl,zu?w

(C) st 12443

(D)1, 2,324

eugollor(eusgs)-l Gararil 2 (A[Qn AR d-Al Hetd (ARl A2AA (Al 2u- dl:
1. cu8oile uR [S-¢ 024 dH-AL GUSA dH-lL 8R ARIAA 52 B, dHA FHLS B 2L slecii 62 Hd B,
2. 24 (Bl prRictmizl eQul AUyl AL AEHE Al S HIZ (20 2+ S GLAIHE HYRL AU ©.

3. il GULsoilogl 2L WAl 208 8 512013 HeidlR-l 6l eIl d-it ous Aflad-d wsidle-l Ralgl

UL RALS-AL AHALOUA AHIH SAL HIS cli-AL 8R AR AN, o,

4. ouBolley Woucd (R0l dSAR B, U %L URURRIML vl $AA ustdlR A di-l uRare-l

-

YduRLAIAL i6iuni Aislas 2 AUlas@Es Hsta 414 B.
GuR U8\ s/ sui Qui-/Qa-dl uRi/200 82
(A) gsct1, 22443
(B) st 2 2 4

(C) st 1244 3

.1, 2,324
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102. Which of the following statements are correct regarding the Traditional Architecture of Gujarat

before the Advent of Muslim Rule?

1

. The architecture of Gujarat featured intricate wood carvings, stone lattices (Jali work) and

elaborate ornamentation in buildings.

. The Jama Masjid of Ahmedabad, built after the city’s foundation, incorporated indigenous

architectural styles with local craftsmanship.

. The construction of temples and structures in Gujarat followed a blended style, incorporating

elements of both Hindu and Jain architectural traditions.

. The architectural developments in Gujarat were solely influenced by Persian and Central Asian

styles with no native artistic traditions.

@only 1,2 and 3

(B) Only 2 and 4

(C)Only 1 and 3

MD)1,2,3 and 4

103. Which of the following statements are correct regarding the celebration of Bhai bij (Bhai Dooj)

and its significance in different communities?

1

. On Bhai Bij, Hindu women invite their brother at home, offer them a feast and receive gifts in

return.

. Many pilgrims from Gujarat travel to Mathura on special trains and buses to bathe in the

Yamuna river on this day.

. Among Jains, Bhai Bij is considered auspicious because Sunanda, the sister of Mahavir, invited

her brother Nandivardhan to her home to end the mourning period after Mahavir’s Nirvana.

. Bhai Bij is primarily a Hindu festival but also holds cultural and historical significance in Jain

traditions, particularly in relation to the legacy of Mahavir and his family.

(A) Only 1,2 and 3

(B) Only 2 and 4

(C)Only 1 and 3

@)1, 2,3 ana 4
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2. 211 GeAd, clRBlclR-l WUl - G-l ROl Fali s1Lsall A3 el [y 1iBls el s18L1RL
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-
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i 2 ALSUAS RS [@s1L R RS 6o o1l 2 B.

GUR USL 53/ sl [Ari-/ (-l uRl/2uR1 87
(A) g5t 1, 2m4 3 (B) e 2 2 4
(C) s5ct 1, 32414 .1, 2,39\ 4
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1. Guieis? el 2is A%2Adl s 2 Aus sdl B 2HMAS AL AUSAUL dH-AL AldLE HI2
2ARAcL Scll.

2. 0 1968UI dH- SUAULS YRes1R Al AL, U 2L WAlB Yrrsl2 HAndrLRL dail Wan dR1dl dus
o124l

3. du-l (s glavil ailauél (dadl, Apaie 2 HLEFS AaRRUAL [AnRlA uldleileid 2 8.

4. SUAULS YRRSIR 5l S(AL HIZ UM 21D B A GHIRISR A2l d el du-l Sleuldds Aldletd W2
UYL Sdl.

GuR U\ 53/ sui [/ [Qu-ll Rl/Ri 82

'aru,zm?ta (B) g5l 2 214
(C) ssct 143 (D)1, 2,324
106. GeAd MLLci-L iUl [Aara-12 AU Ao (A ddls Goyaaiui
219 8.
(A) sndl, a@a-ig .-é,uil, sQues
(C) R Geua, suul2s (D) Qosu-snil Geua, seui2s
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104. Which of the following statements are correct regarding the importance of fairs and festivals in
the contemporary context of Gujarat?

1. Gujarat's fair and festivals serve as a platform for showcasing traditional crafts, agricultural
products and livestock trade, continuing the historical tradition of economic and cultural
exchange.

2. Events like Rann Utsav, Tarnetar Fair and Bhavnath Fair bring together diverse religious
communities, artisans and craftsmen from across India.

3. The International Kite Festival (Uttarayan) and Modhera Dance Festival highlight Gujarat’s
ability to blend tradition with modern trends, attracting global tourists and fostering cultural
diplomacy.

4. In modern Gujarat, fairs and festivals continue to be a driving force for tourism and local

economic growth, preserving cultural heritage while adapting to contemporary trends.
(A)Only 1,2 and 3 (B) Only 2 and 4
(C) Only 1, 3 and 4 @)1, 2,3 ana 4

105. Which of the following statements regarding Uma Shankar Joshi and the Jnanpith Award are

correct?

1. Uma Shankar Joshi was a renowned Gujarati poet and writer known for his contribution to

modern Gujarati literature.

2. He was awarded the Jnanpith Award in May, 1968 becoming the first Gujarati writer to receive

this prestigious honour.
3. His literary works reflect themes of Gandhian philosophy, nationalism and social reform.

4. The Jnanpith Award is given exclusively for poetry, and Uma Shankar Joshi received it solely

for his poetic contributions.

@oniy 1,2 and 3 (B) Only 2 and 4
(C)Only 1 and 3 D) 1,2,3 and 4
106. festival is celebrated as a tribute to Vijayanagar Empire in state of India.
(A) Hampi, Tamil Nadu .—Iampi, Karnataka
(C) Vijaya Utsav, Karnataka (D) Vijaya-Hampi Utsav, Karnataka

107. What are the light, humourous songs played during wedding called in Gujarat?
.Fatana (B) Lagna geet
(C) Marasiya (D) Akhyan
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108.

109.

110.

111.

112.

113.

114.

115.

Which of the following islands in Gujarat is in the shape of a conch (Shankh)?
(A) Pirotan Island (B) Piram Bet
.Bet Dwarka (D) Kalubhar Tapu
are the stone symbols of the spirit of courage and bravery found in Gujarat,
Saurashtra and Kutch.
.Palias (B) Murti
(C) Vaav (D) Kuvo
Which deity did the Magg Parsi Brahmins from Punjab bring to Gujarat in 4™ century and is
worshipped today as well?
(A) Bahuchara Ma (B) Hanuman
@ Amba Ma (D) Randal Ma
The Sun Temple of Modhera, Jain Temples of Delwara and Rani Ki Vaav are the examples
of
(A) Jainism architecture (B) Indo-Islamic style
(C) Nagara style . Maru-Gurjara style
is a famous tribal fair held at Khedbrahma for mourning, festivities and matchmaking.
@ Chitra Vichitra fair (B) Ganda Ghelano melo
(C) Chul no melo (D) Dang Darbar
Badamwari spring blossom festival is celebrated in
(A) Himachal Pradesh .J ammu and Kashmir
(C) Uttarakhand (D) Sikkim
built Moti Shahi Mahal or Shahibaug Palace from which an area is also called in
Ahmedabad.
(A) Ahmed Shah (@) shanjahan
(C) Mohammed Begdo (D) Jahangir
invited Raja Ravi Varma, the great Indian artist and painter, who visited Gujarat

and painted some memorable paintings like Vishwamitra, Deepdarshan, etc.
(A) Mahatma Gandhi

(B) Ranchhoddas Chhotalal

.Maharaj a Takhtasinhji of Bhavnagar

(D) Maharaja Ranjitsinhji of Jamnagar
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117.

118.

119.

120.

121.

122.
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116.

117.

118.

119.

120.

121.

122.

Which of the following is a female-dominated folk dance?
.Tippani (B) Dandiya raas
(C) Hudo (D) Padhar dance
The tradition of classical music in Gujarat began with
(A) Tansen (B) Maanbhat
(C) Premanand .Tana-Riri
at was set up by Rotary Club International.

(A) Kite museum, Ahmedabad (B) Space Science Museum, Ahmedabad
(C) Museum of Fine Arts, Vadodara .)olls museum, Rajkot
Who are the creators of 'Mata Ni Pachhadi', a printing art?
@ pevi Pujaks (B) Maldharis
(C) Rabaris of Kutchh (D) Jats of Kutchh

style of painting practices in Kutch came from Iran.
. Rogan (B) Warli
(C) Sankheda (D) Minakari
Consider the following statements:
1. Earth is a planet and receives all its light and heat from the Sun.
2. Earth is the fourth planet from the Sun and the third largest planet in size.
Which of the above statement(s) is/are true?
@1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
Consider the following statements about the Southern Solstice:
1. The South Pole is tilted towards the Sun.
2. The Sun's rays fall directly on the Tropic of Capricorn.
3. The Southern Hemisphere has seasons with short days and long nights.
Which of the above statements are correct?
(A)Only 1 and 3 (B) Only 2 and 3
@ only 1 ana 2 (D) 1,2 and 3
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123. Choose the correct option from the following regarding the reasons for the change in seasons.
.Change in the position of the Earth and the Sun
(B) Rotation of the Earth on its axis
(C) The Moon revolves around the Earth in a stable orbit

(D) All of the above

124. Consider the following statements:
1. The uppermost layer of the Earth is called the crust and it is the thinnest layer.
2. The thickness of the oceanic crust is greater than the continental crust.
Which of the above statement(s) is/are correct?
@oniy 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

125. Consider the following statements:
1. The mountains which have everlasting rivers of ice are called glaciers.
2. The chain of mountains arranged in the line is called a range.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2

126. Identify the waterfall of plateau regions from the waterfalls given below.
(A) Hundru Waterfall (B) Jog Falls
.Shivasamudram Waterfall (D) Dhuadhar Falls

127. Consider the following statements:
1. Nitrogen gas present in the atmosphere helps in the growth of all types of living organisms.
2. Carbon dioxide gas helps in the growth of trees and plants.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2

128. The Earth's atmosphere is divided into five different layers. In which of the following layers does
the temperature increase with the increase in altitude?

1. Crustacean 2. Stratosphere
3. Mesosphere 4. Ionosphere
Choose the correct option from the following.

(A) Only 1 and 2 (B) Only 2

(C) Only 3 and 4 .Only 2 and 4
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129.

130.

131.

132.

133.
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129. Which of the following evidence is presented in the favour of the fact that climate change has been
occurring since the beginning of the Earth's origin?

1. Deposition of sediments in glacial lakes

2. Rings found in tree trunks

3. Depositional landforms found in deserts

Choose the correct option from the following.

(A) Only 1 @ only 1 ana 2
(C)Only 3 (D) Only 2 and 3

130. Consider the following statements:
1. At perihelion, the Earth receives more insolation than at aphelion.

2. The difference in insolation during aphelion and perihelion has a comprehensive effect on the

Earth’s daily weather.
Which of the above statement(s) is/are correct?

@oniy 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

131. Tropical cyclones do not form near the equator. The main reason for this is
1. Coriolis force is zero.
2. The value of gravity is the lowest.
3. The winds flow at right angle to the Isobar.
Select the correct option from the following.
(A) Only 1 (B) Only 1 and 2
(C)1,2 and 3 @) only 12ana3

132. Which of the following local winds blow during the day time?
1. Land waves 2. Sea waves
3. Valley waves 4. Katabatic winds
Choose the correct option from the following.
(A) Only 1 and 2 (B) Only 2 and 4
.Only 2 and 3 (D) Only 2, 3 and 4

133. Consider the following statements:
1. The boundary between two different types of air masses is called a front.
2. Front are formed only in the middle latitudes.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2
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134.

135.

136.

137.

Consider the following statements about tropical cyclones:

1. These cyclones originate only in the sea.

2. These cyclones are more destructive than the temperate cyclone.
3. These cyclones move from east to west.

Which of the above statement(s) is/are correct?

(A) Only 1 and 2 (B) Only 2

(C) Only 1 and 3 @)1, 2 ana 3

Consider the following statements about Koppen's group 'A' type of climate: -

1. This type of climate is found between the Tropic of Cancer and the Tropic of Capricorn.
2. The climate here remains hot and humid.

3. The annual temperature difference is very high here.

Which of the above statement(s) is/are true?

(A) Only 1 (B) Only 2 and 3

(C) Only 3 (D) Only 1 and 3

Through which of the following processes is there continuous exchange of water between the

atmosphere, oceans and continents?

1. Evaporation

2. Transpiration

3. Condensation

4. Humidity

Choose the correct option from the following.

(A) Only 1 (B) Only 2 and 3
@onty 1,2 and 3 (D) 1,2, 3 and 4

Consider the following statements:

1. The temperature at which water starts to evaporate is called the latent heat of vaporization.
2. The capacity to absorb water decreases with increase in air temperature.

3. The higher the wind speed, the more intense will be the evaporation.

Which of the above statement/s is/are correct?

(A) Only 1 and 2 .Only 1and3

(C)Only 2 and 3 (D) 1,2 and 3
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138. Consider the statements given below regarding the distribution of rainfall in the world:
1. There is more rainfall over the oceans than the land areas.

2. There is heavy rainfall on the east coast between 25° and 40° North and South latitudes of the
equator.

Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2

139. Which of the following factors affect the salinity of ocean water?
1. Evaporation and precipitation 2. Rivers
3. Mangrove vegetation 4. Ocean currents
Choose the correct option from the following.
(A) Only 1 and 2 (B) Only 2, 3 and 4
@ only 1,2 and 4 (D) 1,2, 3 and 4

140. Consider the following statements:
1. Mobility in ocean water occurs only due to the effect of external forces.
2. There are both horizontal and vertical movements in ocean water.
Which of the above statement(s) is/are correct?
(A) Only 1 @oniy 2
(C) Both 1 and 2 (D) Neither 1 nor 2

141. Which states of India are surrounded by international border on three sides?

1. Manipur 2. Assam

3. Sikkim 4. Tripura

Select the correct option from the following.

(A)Only 1 and 3 (B) Only 2 and 3
.Only 3and 4 (D) Only 2, 3 and 4

142. Consider the following statements about the Tapi River:
1. The Tapi river flows south of the Satpura mountain range.
2. The Tapi river is the only river in the Indian peninsula that flows from east to west.
3. The Ajanta and Satmala mountains are situated to the north of the Tapi river.
Which of the above statement(s) is/are correct?
@ oniy 1 (B) Only 2 and 3
(C)Only 1 and 3 (D) None of the three
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143. Consider the following statements:

1. The Himalayan mountain range extends from the Satluj river to the Brahmaputra river in a

west-east direction.
2. The width of the Himalayan mountain range decreases from west to east.

3. The height of the western part to the Himalayan mountain range shows greater diversity than

those in the eastern part.
Which of the above statements are correct?
(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 ®)1,22and3

144. Consider the following statement(s) about the Ganges river system:

1. The river Ganga leaves the mountainous region and enters the plains near Haridwar.

2. After originating from the Yamunotri Glacier, the Yamuna river flows parallel to the right bank

of the Ganga.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2

145. Consider the following statements with reference to Western disturbance:
1. Western disturbances originate in the Caspian Sea.
2. They enter India through the Western jet stream.
Which of the above statement(s) is/are correct?
(A) Only 1 @oniy 2
(C) Both 1 and 2 (D) Neither 1 nor 2

146. In which states of India are Tropical evergreen forests found?
1. On the eastern slopes of the Western Ghats
2. In the Andaman and Nicobar islands
3. On the Aravalli mountain range
4. On the hills of the north-eastern region
Select the correct option from the following.
(A) Only 1 and 2 (B)Only 1,2 and 3
.Only 2 and 4 (D) Only 3 and 4
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147. Consider the following statements about red soil:
1. Red soil develops in areas where crystalline igneous rocks are found.
2. Red soil appears yellow when hydrated.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2

148. The peninsular section of India is mainly composed of which rocks?
1. Granite 2. Basalt
3. Gneiss 4. Sandstone
Select the correct option from the following.
(A) Only 1 and 2 (B) Only 3 and 4
@oniy 12ana3 (D) Only 2 and 4

149. Consider the following statements:
1. India is rich in iron ore containing high-grade iron content.
2. Hematite is the most important industrial iron ore and is used in maximum quantities.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
.Both 1 and 2 (D) Neither 1 nor 2

150. The oldest known language family in India is
(A) Indo-Aryan (B) Dravidian
.Austro-Asiatic (D) Tibeto-Burman

151. Consider the following statements regarding the origin and evolution of the Indian Constitution:
Statements:
1. The Indian Constitution was adopted on 26" January, 1950.
2. The Government of India Act, 1935 had no influence on the Indian Constitution.
3. The Indian Constitution is the longest written constitution in the world.
Which of the statement/statements given above is/are correct?

@)1 and 3 only (B) 2 only
(C) 2 and 3 only (D)1,2and 3
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152.

153.

154.

Which of the following statements correctly describe/(s) the characteristics of the Indian

Constitution?
Statements:

1. The Indian Constitution establishes India as a Sovereign, Socialist, Secular and Democratic

Republic.
2. The Preamble of the Indian Constitution is justiciable and can be enforced in a Court of Law.
3. The Indian Constitution provides a single citizenship for all its citizens.
Which of the statement/statements given above is/are correct?

(A) 2 only @)1 and 3 only
(C) 2 and 3 only D)1,2and3

Which of the following statements accurately reflect/(s) the provisions of the Indian Constitution?
Statements:

1. The Directive Principles of State Policy (DPSP) are enforceable by the courts.

2. The Indian Constitution provides a federal system with unitary features.

3. The Fundamental Rights can be amended by the Parliament without any restrictions.

Which of the statement/statements given above is/are correct?

(A) 1 and 3 only .2 only
(C) 2 and 3 only (D)1,2and 3

Consider the following statements regarding important Constitutional Amendments: -
Statements:

1. The 42" Constitutional Amendment Act, 1976 is known as the 'Mini-Constitution' as it
introduced significant changes, including the words Socialist, Secular and Integrity in the

Preamble.

2. The 44" Constitutional Amendment Act, 1978 restored certain provisions of the Fundamental

Rights that were curtailed during the emergency.

3. The 73" Constitutional Amendment Act, 1992 provided constitutional status to urban local

bodies.
Which of the statement/statements given above is/are correct?
(A) 1 and 3 only (B) 2 only
(C) 2 and 3 only (D)1,2and 3
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155.  DR-uniall 53 (A orReld sitiRlAL YLt WovuAL Rugid- 4oy ld dwLus 82
(Cueut-il:
1. YL WOl Risgid-l 200Ut AR 2ietdd Seidi-ie ourdl 321 (1e93)ul 52 sdl.
2. A ol AR 521 23 B U drll HOeLd HIOULA oledl 25 ST

3. A UR. GIHLS 3A (ReP)Ul HOd HOULAL RisgidA Yr:yBl 20l A ASLEL uumi 212l §
HARUAL GiuIRRIAL 2ULALAS RUIL B,

GuRLsrt USL 52/ sut [t/ Q- 1R4/20u 87
(A) gsct 12443 (B) 5u 2

(C) ssct 2 244 3 .1,22»&3

156. DAl 53 (Aruir euRdML 2iadle-l Rigid 2018 Aoy Ad 2i0ifd 872
(Qeu-ti:
1. ®URl adied d-l Fstats udasA 5181 '2d-AelA’ a3 aglaani 204 8.

2. GURCAL 6{H1RRL- 9L AARARL Irg, A% 2 AHAAL WAL LR T 24 A% AR ATURAL- AU ise

53 8.
3. GURA ARSIR AU(AFAN, 163U 2 URALL GIEIRRIMI AU AAALSBUAL WIALL ALV
GuRLsrt USL 52/ sut [t/ (-l 1Ri/2uu 87
(A) ssct1 244 3 (B) s5ct 2 24 3

(C) ssct 12471 2 .1,22»{-13

157.  DRI-UniR) $3 sl A A - AR AL B? -
(GEIEE
1. cuRdl 2i2ell ya
2. Rl
3. Aairid A Boya

4. F0)A AAScl UL

Yoy ([Aseu urie s2l:
(A) ssct1m4 3 (B) &t 2 2 4
(C) ssct1, 2 - 4 (D) g8t 1, 34 4
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15S.

156.

157.

Which of the following statements correctly pertain/(s) to the Basic Structure Doctrine of the

Indian Constitution?
Statements:

1. The Basic Structure Doctrine was established by the Supreme Court in the Kesavananda
Bharati Case (1973).

2. The Parliament can amend the Constitution but cannot alter its Basic Structure.

3. The S.R. Bommai Case (1994) reinforced the Basic Structure Doctrine by ruling that secularism

is an essential part of the Constitution.
Which of the statement/statements given above is/are correct?

(A) 1 and 3 only (B) 2 only
(C) 2 and 3 only @M. 2 ana 3

Which of the following statements correctly pertains to the Doctrine of Federalism in India?
Statements:
1. Indian federalism is described as 'quasi-federal' due to its unitary bias.

2. The 7™ Schedule of the Indian Constitution demarcates powers between the Centre and the

States through Union, State and Concurrent lists.

3. The Government of India Act, 1935 laid the foundation for federal provisions in the Indian

Constitution.
Which of the statement/statements given above is/are correct?
(A) 1 and 3 only (B) 2 and 3 only
(C) 1 and 2 only @1,22ana3

Which of the following constitutional authorities is a quasi-judicial body? -
Statements:

1. The Election Commission of India

2. The Finance Commission

3. The National Green Tribunal

4. The Central Vigilance Commission

Select the correct option:

(A) 1 and 3 only (B) 2 and 4 only

(O) 1,2 and 4 only (D) 1, 3 and 4 only
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158.

159.

160.

ADRA-waiedl 53 (At GuRAML SLiell 2L L-2ARAS iR AU A FAUGEIRA 210U e ARl

52 87?

1. GURd-L 2.0l Ut (ECI) s 2e-=ARAs A2 § % el 2-RAR S50 A% gl 2Aoifd Al

(Frolx Aol At 829 B.

2. A2td A Rourd (NGT) 3is si-i-Al 2022 B ¥ ssct NGT 2RAUH, 2090 S501-1L walaRel A€l

d2lan $2 8.

3. 361 AdScll UL (CVC) D 22AHI GLRIRUR-AL 3L ULt $2AL HIS FAUGLELR id1RRNY il B,

4. RRIRA i AgRA= oIS 2Alg S([ZUL (SEBI) -URUSA oiRld Fauq §3 8 udq d-dl wal

- AURS AL A2
A BUUAL LS GUAILL S ALY, Lol URe 2
(A) g5t 1247 3 ‘8&1 2
(C) st 2 x4 (D) $5c1, 2 23

oliRel-AL AUl sau 92 S50 A HLg AL, Helddl ovdldl, s AU AL B2l ATl

A @y ud 8:

1. 2ARAE GlRL oi-del SR [Aegrl ALl

2. AW LVUAL AGAL GIRL SAML ALAAL A1

3. YL 32

4. RA2UAL SIAELRAL QgL il

A BUUEAL SLSAL GUAILL S ALY Lol URe 2

(A) ssct1 2443 (B) ssct 2 2 4

@sei1, 2233 (D)1, 2,37 4

Driniell sl citzeila AHIRL eURAML 2AAS 2a-2uA A12 AoiAd B2
1. €adl ARl AAMRAN, aece

2. geil QuRL AMAAN, weer

3. 93 ARl ARMAAN, weerR

4. O¥HL YUIRL AURAAN, qeeR

AR BUUEAL LS GUAILL $A A2, 2pclel URe $2:

(A) 5L 1273 .gsna%iz.

(C) s5ct 2 24 4 (D) g&ct 1, 2 244 3
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158. Which of the following statements correctly describe/(s) the powers and responsibilities of statutory

and quasi-judicial bodies in India?

1. The Election Commission of India (ECI) is a quasi-judicial body that has the power to adjudicate
the disputes related to political parties under the Tenth Schedule.

2. The National Green Tribunal (NGT) is a statutory body that exclusively handles environmental
disputes under the NGT Act, 2010.

3. The Central Vigilance Commission (CVC) is a constitutional body responsible for investigating

corruption cases in the country.

4. The Securities and Exchange Board of India (SEBI) regulates financial markets but does not

have quasi-judicial powers.
Select the correct answer using the codes given below:

(A) 1 and 3 only .2 only
(C) 2 and 4 only (D) 1,2 and 3 only

159. The power of the President of India to grant pardons, reprieves, respites or remissions of

punishment under Article 72 applies to:

1. Offenses against laws made by Parliament

2. Offenses committed by members of the armed forces

3. Death penalty cases

4. Offenses against state laws

Select the correct answer using the codes given below:

(A) 1 and 3 only (B) 2 and 4 only
.1, 2 and 3 only (D)1,2,3 and 4

160. Which of the following Constitutional Amendments is related to local self-governance in India?
1. 61°* Amendment Act, 1989
2. 69" Amendment Act, 1991
3. 73" Amendment Act, 1992
4. 74™ Amendment Act, 1992
Select the correct answer using the codes given below:
(A) 1 and 3 only .3 and 4 only
(C) 2 and 4 only (D) 1,2 and 3 only
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161.

162.

163.

-~ N -~

DAL 58 AUARAL 21l SRUSHIAL St A% U I 1R WAL AHIRL sRaUAL B?
1. Bl 8= M

2. U2 RA Ml

3. SluRse Gi[Al52 2152 (DBT) Ulos-iL

4. WIARA)L 2R AL (PMAY)

A BUUAL LS GUAILL S ALY Lol URe 2

(A) ssct1 2443 (B) s5ct 2 24 4

(C) 551, 224713 .1, 2,324

QURAHL 2182 (Sc-ll 2429 (PIL) Al [Aeuar A2 Sell erid srami 2udl sdl:

1. 2082 (St 2ARAR $2cll GiLotdl UR Si2 ARUNLEL A+l 228l 24l

2. Al 2AURLS A Ao @l W2 st WFRB AR s

3. BURARA AHEIRAL Al 2R £ 5L (Cirt-AR513 ARAL 27 5152 ALK S
4. R8I Al Quas ARRIME eud sa-l Aol A Wiasifd sd.

A BUUAL LS GUAILL S A2Y w¥cAlel URe 2
.@3\1 1,223

(B) ssct 1244 3

(C) s5ct 2 24 4

(D)1, 2,324

oRclA Gi1RRL S50 AL S FAGLELR" AL Rlgics] DA-UniR)l 53 Ao Ad ARl $2 B2
1. d g5l 3rQl lHsnA AL ud B 24 %t WAL A,

C o~ NN e

2. a-dl 22l A B 3 Aol Holaisonl Felil 01 ulseidtd D 2ARind Sldl Sl ASHUL AHAA AU
SN,

3. Apuld ARaAdRLs W2 Ulstidld Wl sldRg s3 213 8, Md 1Al uRue [@Asin 2andl 2w,

4. 2 Rigid S-QU 2R SAH U - A% 2l SAH LE¥HI di-ll GitlRRNA LR 2 8.

A2 2L SLSAL GURAIRL S ALY, U6, URie §2U:
@1 2 2134

(B) st 1243

(C) g&ct 2, 3 4

(D)1, 2,324
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161.

162.

163.

Which of the following policies or programs are aimed at improving governance at the state and

central level?

1. Digital India Mission

2. Smart Cities Mission

3. Direct Benefit Transfer (DBT) Scheme

4. Pradhan Mantri Awas Yojana (PMAY)

Select the correct answer using the codes given below:

(A) 1 and 3 only (B) 2 and 4 only
(C) 1,2 and 3 only .1, 2,3 and 4

The concept of Public Interest Litigation (PIL) in India was introduced to:

1. Allow the courts to take suo motu cognizance of matters affecting the public interest.
2. Ensure legal representation for the economically weaker sections of society.

3. Enable NGOs and activists to file petitions on behalf of affected communities.

4. Restrict the judiciary’s power to interfere in government policy decisions.

Select the correct answer using the codes given below:
@1, 2 and 3 only (B) 1 and 3 only

(C) 2 and 4 only D) 1,2,3 and 4

Which of the following correctly describes the doctrine of Collective Responsibility under the

Indian Constitution?
1. It applies only to the Union Council of Ministers and not to the State Councils of Ministers.
2. It means that ministers must publicly support cabinet decisions even if they personally disagree.

3. The President can dismiss an individual minister for misconduct, even if the Council of Ministers

retains confidence.

4. The doctrine finds its constitutional basis in Article 75 at the Union level and Article 164 at the

State level.
Select the correct answer using the codes given below:
.2 and 4 only (B) 1 and 3 only
(C) 2,3 and 4 only D) 1,2,3 and 4
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164. QURAHL AURS AlSAL 243 AA-nidl 3 [QAui 212 82
1. d oltiRllA YU AnAdl HIZ SIUELSI s SIRICUI cleidlil A(EA ARLS sacgiu-dl Gedu 52 B,
2. GURANL ~AURLS AlsAA, N8R (Sl 249911 (PILS) Gl2L AL USSIL.
3. Al AL SRAEIAL AAL SLRIGUDL (FA1AA 2¢ 53 203 B % 6iUIRQLAL HOGLA HINWL - Gedad 52 B.
4. $dl-e MURdL S (1¢93) A citRR)A Rigid ds ~ARLS AU 2uBURL QAR $3).
A UL SLSAL GURALIRL S ALY, AUL6L URie S

(A) ssct 1214 2

.@3@1,2%&3

(D)1,2,3244

165. QURA-L 2H-ARS 2421211 (A8 DRA-UniR) $3 (@A 1R B2
1. AP HiAd 2[As12 201001 (NHRC) AL 2A[AS12+L Geedel HI2 £5 ALl 215 ©.
2. 341 aladl S0 (CAT) ALRSs Aasi-l Aci-Al 22dl A6iffd [QaALEl A1 ASIR §2 §.
3. sifU2lA sl 2iis S=3UL (CCT) 8ol AUIR Y- (R sAL HIZ FAUGIELR B.
4. eURIA 242l Ut (ECT) Wil 2uieel 20212 (Sl Geian {6l sitetdinl Ad--ARs Al 8.
A BUUEAL SLSAL GUAILL $A ALY, 2pclel URie 2
(A) ssct1 2443 (B) ssct 2 244 3

@)sei2, 3204 (D)1, 2,374

166. QURd~L 2AidRAFIA A6idini DAl 58 A1l Heca-dl MRLsL @xd B?
1. (221 duda (MEA)
2. R4l 3i-s QR [€oL (RAW)
3. 8(Ju- $1G[Ad SR scuRA (Rdal=1 (ICCR)
4. L 2010001
AR BUUAL SLSAL GUAILL $ ALY, ¥clel URie 2

(A) gsct 12443
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164. Which of the following statements regarding judicial activism in India are correct?

1.

It refers to proactive judicial intervention in legislative and executive matters to uphold

constitutional values.

. Judicial activism in India gained momentum through Public Interest Litigations (PILs).

. The judiciary can strike down laws or executive actions that violate the Basic Structure of the

Constitution.

. The Kesavananda Bharati Case (1973) explicitly defined judicial activism as a constitutional

doctrine.

Select the correct answer using the codes below:

(A) 1 and 2 only (B) 2 and 4 only
@1, 2 and 3 only (D) 1,2,3 and 4

165. Which of the following statements about India's quasi-judicial bodies are correct?

1.

The National Human Rights Commission (NHRC) can impose penalties for human rights

violations.

. The Central Administrative Tribunal (CAT) deals with disputes related to the service conditions

of civil servants.

. The Competition Commission of India (CCI) is responsible for regulating monopolistic trade

practices.

. The Election Commission of India (ECI) has quasi-judicial powers in matters related to the

Model Code of Conduct violations.

Select the correct answer using the codes below:

(A) 1 and 3 only (B) 2 and 3 only
@):. 3 and 4 only (D) 1,2, 3 and 4

166. Which of the following institutions play a key role in India’s international relations?

1.
2.
3.
4.

Ministry of External Affairs (MEA)

Research and Analysis Wing (RAW)

Indian Council for Cultural Relations (ICCR)
NITI Aayog

Select the correct answer using the codes below:

(A) 1 and 3 only (B) 2 and 4 only
@1, 2 and 3 only (D) 1,2,3 and 4
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167. GURAA GiHIRRLAL ARIAl $8 AAUSVUL LRAAML, SIRAGUA A Al a2 Axli-dl [Qeus 1
2ioifd 82
1. 2RO U0 — AAdAA s1RICUNA A2 524
2. 2U128¢ 123 — AUl 42 sH oi-taci-l 2uxil
3. VUL E — Frgs s AL AR SIAELEIA AU (Aeuge
4. 2URBE 392 — AN oAl AL 2L
D2 UL SLSAL GUALL A ALY AL6L URAE $2U:
(A) gsct 12443
(B) ssct2 244 4

-a-u,zu?w

. (D)1, 2,324

168. eURl GitlRQL S50 217 2R U (SECS) -l eLst- N2A-iall 52 Ao A ARl 53 82

1. SECs VUl 1% A2l 24 AR A1) 212l 2iudq 52 8.
2. GURCAL Hu 2Rl st 2o 22l sMel-RA £2 seaudl A[/s1R B.
3. SECs 6itlIRQI-L 2-128¢ 43K il ¥3ZA izl du-il At Hnd 8.
4. %4 2RIl s(21-iR A Aci-]l 2Rl AU AU GlRL A5 SN 219 B,
D2 UL SLSAL GUAIL S ALY aALel URie $2U:

@51, 32474
(B) ssct 1244 3
(C) s5ct 2 24 4
(D) g5t 1, 2244 3

169. 8-Sl -4l AUsAR o (R00¢) [AAUEIRUE Sdl 1281 S:

S Y

1. Sl euURCAA URHLGL (Gi--Y211R 2R (NPT) UR $cllgir $2-UR L Sldl i WL URHLGL duiRui wisial-dl
Hogdl 24N

=3

~N N -~ (IS o™
2. dRl GURcl-AL URHLYL uél&u?u SALAL AU A (8512 uR Wlaoisl HeUL.

-

3. 2L ALEL WTO HLouL SEUL SRALML AL Scll.
4. A%EA (AR1-AL 512081 AAEH [AsdLA Ul 2% AAL .
A BUUAL LS GUAILL S ALY, wpclel URie 2

(A) ssct1 2443
@)sst1, 22474

(C) g2 2 4

(D)1, 2,324

74 | [BMN] [Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight


167. Which of the following provisions of the Indian Constitution deal with the separation of powers

168.

169.

among the Legislature, Executive and Judiciary?

1. Article 50 — Separation of Judiciary from the Executive

2. Article 123 — Ordinance-making power of the President

3. Article 246 — Division of legislative powers between Centre and States
4. Article 312 — Creation of All India Services

Select the correct answer using the codes below:

(A) 1 and 3 only (B) 2 and 4 only
@1, 2 and 3 only (D) 1,2,3 and 4

Which of the following correctly describes the role of State Election Commissions (SECs) under

the Indian Constitution?
1. SECs conduct elections to Panchayati Raj institutions and Municipal bodies.

2. The Chief Election Commissioner of India has the authority to remove a State Election

Commissioner.
3. SECs derive their powers from Articles 243K and 243ZA of the Constitution.

4. The tenure and conditions of service of State Election Commissioners are determined by the

Governor of the state.
Select the correct answer using the codes below:
.1, 3 and 4 only (B) 1 and 3 only
(C) 2 and 4 only (D) 1,2 and 3 only

The Indo-US Nuclear Deal (2008) was controversial because:

1. It allowed India to engage in nuclear trade despite not being a signatory to the Nuclear

Non-Proliferation Treaty (NPT).
2. It imposed restrictions on India's sovereign right to conduct nuclear tests.
3. The deal was signed under the WTO framework.
4. It led to the introduction of a Confidence Motion in Parliament due to political opposition.
Select the correct answer using the codes below:
(A) 1 and 3 only .1, 2 and 4 only
(C) 2 and 4 only D) 1,2,3 and 4
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170.  DRA-UuiR) sui [Quu-l euRd-l iella Hiowii A1 Ad 4gl- 52 872

1. GURA Hoold Srg A1 -2l WUl 23 B.
2. 3 211 2170 4R AU ASARD GiHIRELAL 2-RURL ou eallda B.
3. AL URL A AL A AL ARAAL ALRLLELRL AGIHL A5 SRAL UIZ HALGIEIR B
4. e 4 uRNEA MRl @Al uRl 21 [QuieuA Q2o seal-dl Al 8.
A2 UL SLSAL GURAIRL S ALY, BAUL6L URiE $2U:

.{x&d 1,273
(B) L2 24 3
(C) g&ci1, 32 4
(D)1, 2,324

171, cuRdul oitiRRll AuRw (Al lR-mia] sui (Quu-dl 1l 82
1. WA o{HIRRIRL RAHIRL (LeU) A HOMd AU [@5181 UR Aol Wlcioitl 2% sul.
2. ¥R L YHIRL (1€9E) GllRd-{ 'de oitiRRl! dlS weL Anvu 8.
3. %% HL AR (1e9¢) 3 ¥R WL YUIRL GIRL He SAAAL YN ARSI Yrt:AU A sl
4. 209 Hl U131 (098) A dRgiill 244 Al §2 (GST) 27 sl
2 2UUAL SLSAL GUAIRL S ALY Lol URie S2U:
(A) gsct1, 22443
(B) st 2 2 4

.1, 2,39 4

(D) gsct 1244 3

172, DRAAUMiE) sui Qe cuRdl Ul 22 2o Ad agi- 53 82
1. G-l GIEIRRIAL 24D % S50 AU SI2-l 2L sl 1) el
2. CURAUL SLESIZ GIHIRRLAL AARBE 0¥ -231 S50 51 52 B.
3. GURA-L Huu AruEleL (CJT) AL (neLs Ul gt Al uRne 03 el s sraumi 2ud 8.
4. AP ARS (LS 20011 (NJAC) AL 209U Ui M SI2 RS 2adatdid Geelerd sl sled 2€ $AL

Sdl.

121 UL SLSAL GUAIDL $A- ALY AULGL URLE S

(C) st 2 w4
(D)1, 2,324
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170. Which of the following statements correctly describe India's federal structure?
1. India follows a quasi-federal system with a strong center.

2. The distribution of powers between the Centre and the States is outlined in Schedule 7 of the

Constitution.

3. The Finance Commission is responsible for determining the financial relations between the

Union and the States.

4. The Governor has the power to dissolve a State Assembly even without the recommendation of

the Council of Ministers.
Select the correct answer using the codes below:
.1, 2 and 3 only (B) 2 and 3 only
(C) 1,3 and 4 only D) 1,2,3 and 4

171. Which of the following statements about the Constitutional Amendments in India are correct?

1. The First Constitutional Amendment (1951) introduced reasonable restrictions on fundamental

rights.
2. The 42" Amendment (1976) is also known as the '"Mini-Constitution' of India.
3. The 44" Amendment (1978) restored the fundamental rights diluted by the 42" Amendment.
4. The 101°* Amendment (2016) introduced the Goods and Services Tax (GST).
Select the correct answer using the codes below:
(A) 1,2 and 3 only (B) 2 and 4 only
@1, 2,3 ana 4 (D) 1 and 3 only

172. Which of the following statements correctly describe the structure of the Indian Judiciary?
1. The Supreme Court of India was established under Article 124 of the Constitution.
2. The High Courts in India function under Articles 214-231 of the Constitution.

3. The Chief Justice of India (CJI) is appointed by the President of India in consultation with the

Council of Ministers.

4. The National Judicial Appointments Commission (NJAC) was struck down by the Supreme

Court in 2015 for violating judicial independence.
Select the correct answer using the codes below:
.1, 2 and 4 only (B) 1 and 3 only
(C) 2 and 4 only D) 1,2,3 and 4
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173.

174.

175.

DAl 53 GURd ARSIR AURMAAN, 163U FPIUSDL A1 R ARl 52 B2

-

1. LSl Wil 2aietel 27 53 24 WidlA 2R (Gl U Aloge 3.

-

2. A8l GURAHL FSRE SIS+l 22UIUAL HIS %Ll $3L.

-

3. AL (BAR2L euRd 247 B 218l YRl 82, A 3 2L 28l U AL5IR AL - Sl
4. QL GLRAML YAN quid Haeld 2Es1RIH] [Qeuarit 29 s3).
D2 UL SLSAL GUAIL S ALY %aALel URie $2U:
.@m 1,273
(B) gsct124i 3
(C) $5ct 2 24 4

(D)1,2,3x4 4

QURAHL 2AAS 2021901 (AL A2l 53 (Qruq A1) B2
1. dadl 1% weudl stacd A2 Hdl AM (1eud) Al ARl u 2uULRd 8.

2. 93H1 AR 2ALAAAN, 1eeR D AL AL ARL 2312 WAL 21% 2i2a121L 2AUAL HIZ AU 52
Sl

3. euRdlY sitRRi) il 2R AL 21% A2 AL 2L FAUELR2AL 012 A6IRA B.
4. 1% 2Rl v vrud) 210 201l 2 1%L [AuLRACUAL in-l 2Rl A%l HIZ FALELR B,
2 UL SLSAL GUAIL S ALY aALed URie $2U:

(C) s5ct 1, 32 4
(D)1, 2,324

URdAUL LIRS Arlewl (A2l ARzl sui (@Al a1 92

1. AURs AH1g1 elidl 6idIRRIAL A28 13 izl dani 2udl 8.

2. P SI2 A SISSIEA el AR 2 stAelRil oid-)l AHlau s2a-dl AL B.

3. 321dl-e Gl 31 (1¢93) 3 AU 5 3 GIHIRELAL YN HIOTHE AHIRL 52 251 AL,

4. GURAUL ALRALS walaul YAIE2S 222 SRl AUS B, 51201 5 d oitireil ARl A8 sa-l
Hog 21U B.

2 UL SLSAL GUAIRL S ALY AL URie S2U:

(A) ssct1 2443

(B) 851, 2243
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173. Which of the following correctly describes the provisions of the Government of India Act, 1935?

1.
2.
3.

4.

It introduced Provincial Autonomy and abolished Diarchy at the provincial level.
It provided for the establishment of a Federal Court in India.

It proposed a federation of British India and Princely States though the federation never

materialized.

It introduced the concept of Fundamental Rights for the first time in India.

Select the correct answer using the codes below:
.1, 2 and 3 only (B) 1 and 3 only
(C) 2 and 4 only D) 1,2,3 and 4

174. Which of the following statements about Local Self-Government in India is correct?

1.

The Panchayati Raj System is based on the recommendations of the Balwant Rai Mehta
Committee (1957).

. The 73" Amendment Act, 1992 provided for the establishment of three-tier Panchayati Raj

institutions in all states.

. The 11" Schedule of the Indian Constitution deals with powers and responsibilities of Panchayati

Raj institutions.

. The State Election Commission is responsible for conducting elections to both Panchayati Raj

institutions and State Legislatures.

Select the correct answer using the codes below:
.1, 2 and 3 only (B) 2 and 4 only
(O) 1, 3 and 4 only D) 1,2,3 and 4

175. Which of the following statements about Judicial Review in India are correct?

1

. Judicial Review is derived from Article 13 of the Indian Constitution.

2.

The Supreme Court and High Courts have the power to review both Constitutional Amendments

and laws.

. The Keshavananda Bharati Case (1973) established that the basic structure of the constitution

cannot be amended.

. Judicial Review in India is broader than in the United States, as it allows for the review of

Constitutional Amendments.

Select the correct answer using the codes below:
(A) 1 and 3 only (B) 1, 2 and 3 only
@1, 2,3 ana 4 (D) 2 and 4 only
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176.

177.

178.

179.

180.

LU USIRAL [AHIHA F2 ML GSi- tRauiel A2l ay FIUEL 21 7

(a) S[@sie: (B) sttt @3-
.auqeuf?ls »ausdl @i (D) cwsis -t

836l 24 BlauAL vil2L AL 2uaael-l wlEal ad dlses 2@ dg2RuL (LAB) gl Auuf@d 2 8, Fui
USi-lIRels AA(2RABSA WRAS dAsisstHl Hecaul st o1wd 8. 2 g RUL ADRA-iadl sui -l
Geur 53 uAARL (3L 23 $3 8:

(i) alses il

(ii) AARRs ARs

(iii) stol SrULRUSS

AR 2l [ seu urie s2i.

(A) s (i) (B) (i) 2t (ii)

(C) (i) 2 (idd) .i), (i) 247 (iii)
QURAML U222 Ll HIS ALHLL Al CLAIHERL $AAA 2142 YlR AR $8 82
(A) 20 =\ 25 PSI (@)-s =0 36 ps1

(C) 40 = 45 PSI (D) 50 @il 55 PSI

gAML RAA s 2AS2-L 821 dloyoll Ul Wi, Sl HURRd A1 WIAR wWl-2Hi, 9-dl2 L LED sieol
15615 L AA AR 12R 32¢ CO, G lFct uLl?

(A) 7-8 Melaun

(B) 70-80 (Mclaun

(€) 700-800 Riciloun
@)7000-8000 (acilun

~ ~

A UZlet Al 4-edldR W12 UENRL (RRiARL UHIRIA (PUC) 29l seiri S, ol Figosiee Aumi 1A USL su
cecli-| udlail s2q ¢33 82

(i) 188 sLot-L (HC)

(ii) stei- AiAig18$ (CO)

(iii) AW AA(NH )

(iv) 18 ivgt SISACHISS (H.S)

@) ana Gi)

(B) (iii) and (iv)

(C) (i), (ii) and (iii)

(D) (), (ii), (iii) and (iv)
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176.

177.

178.

179.

180.

Which type of aircraft benefits the most from flying in a jet stream?
(A) Helicopters

(B) Cargo planes

.Commercial passenger jets

(D) Fighter jets

The fermentation of Idli and Dosa batter is primarily driven by lactic acid bacteria (LAB), with
Leuconostoc mesenteroides playing a key role in the initial stages. This bacterium initiates the
fermentation process by producing:

(i) lactic acid

(ii) acetic acid

(iii) carbon dioxide
Choose the correct option:
(A) Only (i)

(B) (i) and (ii)

(O) (ii) and (iii)

@), i) and i)

What is the typical recommended tyre pressure range for passenger vehicles in India?
(A) 20 to 25 PSI @25 to 36 Ps1
(C) 40 to 45 PSI (D) 50 to 55 PSI

A coal-based thermal power plant supplies electricity to the households in a town located in
Gujarat. Approximately how much CO, would be emitted when 9-watt LED bulb operates for
1 hour?

(A)7-8 mg (B) 70 - 80 mg
(C) 700 - 800 mg @)7000 - 8000 mg

If a Pollution Under Control (PUC) Certificate is to be issued for a petrol-driven 4-wheeler, which
of the following needs to be evaluated in the respective exhaust gas?

(i) Hydro Carbon (HC)

(ii) Carbon Monoxide (CO)

(iii) Ammonia (NH,)

(iv) Hydrogen disulphide (H,S)

.(i) and (ii) (B) (iii) and (iv)

(C) (i), (ii) and (iii) (D) (i), (ii), (iii) and (iv)
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181.  AA-i [Qru-ll e @l

(i) 20 USR5 ARSHL gl B, % QUL GUARL AL $1- YR saL W2 WA & 44 Fritall
'A(RAS 222" 2l0€ YA(Ad 2L

(i) APl 1B (28 BiRASHL gl ® A d RicaR 41822, ULRIL A ALSZI% LSALSS Gi-Id &,

GuR US\ s/ sul [/ [Qu-ll Rl B2

(A) &5t (i)

(B) g (ii)

(@5 () 24 (i)

(D) (i) 24 (id) Hioll 28 uRL Al

182. ~UBZLw--lL [A[AY liseus suidl il Al ay sRsies 82
A)NO B)N_ O

.qOZ D) N205

183. DA ([Qru-ll euie @l

(i) oliut 3Rl (Bowen Ratio) - A[Acid GBUL Udls -l @22 GRldl Udls-ll ARUTR LS
QAR sAM 219 B,

(i) Grj Tl ARIdR (>1) 12 ay % oll-)l AW (FH S ol 21adL d-uld [QRd1R)
GuR U8\ s/ sul [/ [Qui-ll RL/R B2

.gsd (i)

(B) &5t (ii)

(€) & (i) 244 (i)

(D) (i) 24 (id) Wiell is uLL Al

184. - (Qru-l A @l

-

(1) wiaR Hauad e widR Wizl sUrRlLR-AL GURLRL IR AU Flei a1 8, ¥ A3 (SAMARTH)
dAdls Al 209, 8,

(ii) slcau uELRA UIgR wiAHL As-sn GlRL A% GlleA HIZ U GUARLAL AL, -l daun
AU UIGR Wi 1o Geuler W2 5-10% culinit-dl Gualiol sl §2o wid 8.

GuR US\ s/ sul [Aa-/[Qu-ll RL/20R1 82
(A) g5t (i)

(B) &t (ii)

.w?t (i) 247 (i)

(D) (1) 24 (i) Wiell 2is uBLAlS
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181. Which of the following statement(s) is / are true?

(i) Gold is insoluble in nitric acid, a property that has been used to confirm the presence of gold in

items giving rise to the term ‘acid test’
(ii) Silver is soluble in nitric acid and form Silver Nitrate, Water and Nitrogen Oxide
(A) Only (i)
(B) Only (ii)
@ Both (i) and (i)
(D) Neither (i) nor (ii)

182. Among the various oxides of nitrogen, which one is the most harmful?
(A)NO (B)N,O
@no, (D) N,0;

183. Which of the following statement(s) is / are true?
(i) Bowen Ratio is defined as the ratio of sensible heat flux to latent heat flux
(ii) High Bowen Ratio (>1) indicates moist surfaces (e.g., water bodies or vegetated areas)
. Only (i)
(B) Only (ii)
(C) Both (i) and (ii)

(D) Neither (i) nor (ii)

184. Which of the following statement(s) is / are true?

(i) Ministry of Power has established National Mission on the use of biomass in thermal power

plants known as SAMARTH

(ii) The policy on biomass utilization for power generation through co-firing in coal-based power
plants, mandates all thermal power plants in the country to use 5-10% biomass for power

production.
(A) Only (i)
(B) Only (ii)
@ soth (i) and (i)
(D) Neither (i) nor (ii)
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185.

186.

187.

188.

DA USL s/ sl e Gurn Aeriif diogu-ll /U S/ 82

~ .~

(i) 2w R2cdini sM 214 M @Rara-l §lsia 21a s34 sM@ 214 sM Rl quRieLsdiziia 2od Ad
dloy Yrasl Al 2ud.

(i) 32 QRcURAME GU-UARQL U [AAREQL BUHLRCLA HIAVI HFOLALECL 2L QIR
(iii) v @acuini Hl2@Eat (fls=d, QdeL 21-ugiHal 244 quRleLsdiil).

ARAA il Aoy [Aseu urie 2.

(A) g&ei (1) (B) (1) 24+ (ii)

(C) (ii) 47 (iii) .i), (i) 2 (iid)

Al 2 BisRiA [, 2022 S50, iU BgRAA HIZ UL, UANIRL Qoo WiFse-d dedi se 32 82
() 50 Gdidie .100 Gdidie

(€) 1 ¥ouaie (D) 5 Wauaiz

ARl (QuiAl A Qi

(i) AR812 Glrlusd (PAHAL) A%l HIRgd el aulalsdizil 1i2 2138 Ad AuiRd a8 R
2% srAUML UL .

-~ C

(ii) usd (PAHAL) (@il 2112l 38) S35 GiAilEe 21-2ug2 iyl s BLRARL 61 2iig aes LAML £

<

U8 8.
GUR USL 53/ sl [Aru-/ (-l uRl/2uRl 87
(A) g5t (i) (B) &5 (ii)
.w?t (i) 2 (ii) (D) () 24 (id) Hiel s w4

sRuuUL s AL GuAdL saAL W2 As BAALA WLl AL SRAUL UL 8, ¥ eURd-L

'dee-2-de YA silc crasl. d-it 2ieeinl AL [Quil e dl:

(1) 202 2 aN 2URAR 2 ALV 24 ATALAL YR (RASA 231) -l GULIAL $3AA 3 5218 dleR sl Geule-
s29l.

(if) 8A-A 6ALIA WAUHA AL 00, 24 83-ld €2 a¥ 20213 3 dlv 2L CO, AMseL et a1l
AASIGA A el2Lssl.

GuR UL s/ sui [/ Q- RL/RE B2

(A) g5t (i) (B) gt (i)

.w?t (i) 247 (i) (D) (1) 24 (i) nizd As weL A&
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185. Which of the following is / are the objective(s) of Deendayal Upadhyaya Gram Jyoti Yojana?

(i) To separate agriculture and non-agriculture feeders for judicious rostering of supply to

agricultural and non-agricultural consumers in rural area

(ii) Strengthening and augmentation of sub-transmission and distribution infrastructure in

rural area
(iii) Metering in rural area (feeders, distribution transformers and consumers)
(A) Only (i) (B) (i) and (ii)
(C) (ii) and (iii) .(i), (ii) and (iii)

186. Under the Green Open Access Rules, 2022, the minimum size of the renewable energy project

eligible for open access is
(A) 50 KW @ 100 kw
O 1MW (D) S MW

187. Which of the following statement(s) is / are true?

(i) The government introduced well-targeted systems of subsidy to LPG consumers through

PAHAL

(ii) PAHAL has entered into Guinness Book of World Records as being the largest direct benefit

transfer scheme
(A) Only (i) (B) Only (ii)
@ zoth (i) and (i) (D) Neither (i) nor (ii)

188. Which of the following statement(s) is/are true focusing the establishment of an ethanol plant in
Haryana for utilizing agricultural residue which is set to revolutionize India's ‘waste-to-wealth’

efforts?

(i) About 2 lakh tonnes of rice straw (parali) will be used to generate 3 crore litres of ethanol

annually

(ii) Considering the Ethanol Blending Program, this ethanol will reduce greenhouse gases

equivalent to about three lakh tonnes of CO, equivalent emissions per annum.
(A) Only (i) (B) Only (ii)
@Both (i) and (i) (D) Neither (i) nor (ii)
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189.

190.

191.

192.

AL (QuiAl A Qi

(1) 0l 2a26 sl 515 (NCAP)131 Al-22 8432 2 (RUAUA 121 2ASA/2AS AHETHE PM10 cRIuL
2025-26 QUL 40% Yt 8218l Hogqdl 2L AP HIREI (60 pg/m?) At udiudi-dl &d v1d 8.

(ii) WL (PRANA) 21 215 (A2 Sl Alss B, % HNRLA Sd Airt -2428H-2 ASAHI [A[AY 82151 A RUALAA
ALl yRi w3 8.

GuR USL 53/ sl [Qui-/ Q- uRi/2uR1 87

(@ (i) (B) gt (i)

(€) & (i) 244 (i) (D) (i) 24 (ii) Hioll 2 wRL Al

-~

QURAHL " ARl - 4L LS - ddt §lsa-2il" RiReu-l 2is you dsSl calSisdl o) 872
(A) o1t QR As % AR 2d? (33 kV) s1d 83 B.

. AU ALS ABIA 2R s % Flsa-2il (50 Hz) 2nndl Aul 8.

(C) waR w221 [AQuil3d sraumi 2ud el wuReL 4seu aeLdl st

(D) awrctf@s-2AHA-AURLLL 25 SRl HIS 2HLE {231l GuldL A1 B,

AP Rt Bourd (NGT) (Al A2 (Al 2u- dl:

(1) 2l Rt Bourd (NGT) RuQe WilRi%s= Sis, 1908 S50l Wlsauiell oitudd A2l, udd d gedl =ua-l
Rigidl gleL Hwleleld i 8.

(ii) NGT+l uiat 6i581 8: vy 6l GLULAHI; HlAd 612 Ad) [Bedl, Bl Slasidl 2 AASUL.
GuR U\ s/ sui [/ [@Qui-ll Rl/2Ri 82

@)= () (B) st (i)

(C) eaed (i) 244 (id) (D) (i) 241 (i1) Wil 2isweL Al

DA USL 52 /5L 2l 2ct-AL 2028131 013 ASIAA B?

(i) -2l wisisid

(ii) QA s-ai-21-

(iii) 221sSIM s-a-21-

(iv) 212231 s-d-2u1-

Al Aoy [Aseu i s2l.

(A) g5t (i) -3@ (i) 247 (id)

(C) sset (id) A (i) (D) (i), (ii), (iii) 21 (iv)
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189. Which of the following statement(s) is / are true?

(i) National Clean Air Programme (NCAP) has a mandate to achieve up to a 40% reduction in
PM10 levels or to meet national standards (60 pg/m?) in the 131 non-attainment and million

plus cities/urban agglomerations by 2025-26

(ii) PRANA is the special purpose vehicle which essentially funds the various mitigation strategies

across the non-attainment cities

@oniy i) (B) Only (ii)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)

190. A key technical feature of the ""One Nation - One Grid - One Frequency" system in India is
(A) All regions operate at the same voltage level (33 kV)
.The entire grid maintains a single frequency (50 Hz) nationwide
(C) Power generation is decentralized to reduce transmission losses

(D) Use of smart meters for real-time consumption tracking

191. Which of the following statement(s) is/are true regarding National Green Tribunal?

(i) The tribunal shall not be bound by the procedure laid down under the Code of Civil Procedure,
1908 but shall be guided by principles of natural justice

(ii) National Green Tribunal has five places of sitting i.e. Principal Bench in Bhopal and Zonal

Bench in Delhi, Pune, Kolkata and Chennai.

@only G (B) Only (ii)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)

192. Which of the following is/are connected with Ozone Layer Protection?
(i) Montreal Protocol
(ii) Vienna Convention
(iii) Stockholm Convention
(iv) Rotterdam Convention
Choose the correct option:
(A) Only (i) .Only (i) and (ii)
(C) Only (ii) and (iii) (D) (i), (ii), (iii) and (iv)
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193.

194.

195.

A1 U 53/l uiRet-L tollisal sl slotd-l ARi-dl (32RiS Sllodtr/-L ot 122
(i) GDP 0l G+t clstelt a2Lsdl

(i) (Cla-2u(eNo BURL 2UULRA dlosell-L [SAME arIRL sAL

(A) g5t (i) (B) gt (ii)

(C) &4 (i) 247 (i) .(i) 4 (i) Hizll A5 L AR

e-Sampark (A2l AR (Qeu-l 2u- dl:

(i) e-Sampark 21 AHA GURAHL AR HBHR, BUIG26LUGS SIU(A 2+ SMS (AL Al 2qlaL
of ARLRSL A1 Fsal-Al s URudl 8.

(ii) e-Sampark i 2etere-il 2aBLs 2iauAL AR YL WEAL W2 25 sA AWS 24 A UL 52
asi-221U A2l B.

GuR UL 53/ sui [/ [Qui-ll Ri/Ri 82

(@)= () (B) gt (i)

(€) & (i) 244 (i) (D) (i) 24 (ii) Hioll 25 wRL Al

oLRdlA (A1 2tinu wiELs? (UIDAI) (@l A2l [Qui-l 1A el

(i) cuRd-AL BUHIR-i1R-11RSIA A s (A icuL 12 A ScL Gi-llAdl

(ii) SisuRL AMA, suid ueL uHIRllsRL HIS [(BFFed Wa gl uel- sal

GuR UL 53/ sui [/ [Qui-ll RL/RE B2

(A) g5t (i) (B) gt (ii)

(@3 (i) 24 (i) (D) (i) 2444 (i) niell s ueL R

196. "sdireu [RUnd22" i3 A2 (Al 2u- dl:

(1) Bl sql-em s34 (201 2ietitiA-L ALULSL (A sRAlAL AU USSIRA B3l HIZ-]l WA(Ms uddini-l
ULAS S,

(i) 20 YWiwse AreR sl Jadui-2 2ils Asdl-24 $124(291 (C-DAC), 8[IJu- 822 il A1 GG
2 8 822y g 2eUALY 355! GlRL 2Aset Al WLl sreUui L B.

GuR US\ s/ sul [/ Q- RL/2RE B2

(A) gt (i) (B) gt (ii)

.u@t (i) 247 (i) (D) (1) 24 (i) nied As weL A&
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193.

194.

195.

196.

Which of the following is/are not a part of the India's Intended Nationally Determined Contribution

towards climate action?

(i) Reducing emission intensity of GDP

(ii) Increasing the share of non-fossil fuel-based electricity

(A) Only (i) (B) Only (ii)

(C) Both (i) and (ii) .Neither (i) nor (ii)

Which of the following is/are true for e-Sampark?

(i) e-Sampark is a mechanism to connect the government directly with citizens across India by

running mailer, outbound dialling and SMS campaigns

(ii) e-Sampark is a one-stop solution providing technical support and services towards a hassle-

free admission process in academic institutions across the country

@oniy i) (B) Only (ii)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)

Which of the following is/are true regarding the vision of Unique Identification Authority of India

(UIDAID)?

(i) To empower Aadhaar number holders of India with a unique identity.
(ii) To provide a digital platform to authenticate anytime, anywhere.

(A) Only (i)

(B) Only (ii)

@soth (i) and (i)

(D) Neither (i) nor (ii)

Which of the following statements is/are true regarding Quantum Simulator?

(i) It is one of the first initiatives to address the common challenge of advancing the Quantum

Computing research frontiers in the country

(ii) It is accomplished as a collaborative effort of Centre for Development of Advanced Computing

(C-DAC), Indian Institute of Sciences, Bengaluru and Indian Institute of Technology, Roorkee
(A) Only (i) (B) Only (ii)
@zoth (i) and (i) (D) Neither (i) nor (ii)
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197. AB6IR YRARA G 23 N2 U 52/ 5l Qri-t/[@Qr-ll 0L/ B2
(i) d CURd ARSLRAL 28U WALAAAL USH 8.

(ii) o 2uBelR s1EU 51 YA Feradl 2 drm A1 [@Aewdll, GLSL 2 NS Al il yuu
Wl 28U 2ASIARAL (CISOs) 2 g2ells IT ARSIl gictdii-f Fuiel s2a-i Flei

12 1A s
(A) g5t (i) @) Gi)
(C) eae (i) 244 (id) (D) (i) 24 (i1) Wil 2is weL S

198. DA USL 52/ sui [t/ (el i/ 82

(i) Al (A2 8[=Zun s22d21 (NavIC) CliRdrl 2ad= Wig(2ls Al A2ase (Reu 8, %l GEU
MR Ay euRAlA L 2R 1500 (33 ) [ArdRal Gl auRreLsdl il AlssA RAL, AUl 24
AUA (PVT) AdL Ul $ALAL S,

(ii) NavIC Gl usta-l Acipll Uel-d $2 §: 221-sS UidelfFol 20421 (SPS) 244 RE252.$ 24 (RS).

(A) &5 (1) (B) g8t (ii)

.ov?t (i) 2 (ii) (D) () 24 (id) Hizl s w4
199. 3 US\ gl ouRdAlA iRl BirfRiiL AL (ISRO) L Wi B2

(i) eyl (ii) e

(iii) dewn (iv) 2us

AR 2iou [Qseu urie s2i.

(A) 88 (1) 44 (i) (B) &8t (iii) 244 (iv)

(C) g&xt (i), (iii) 24 (iv) .(i), (i), (iii) 244 (iv)

200. 12l 20254i ISRO1 SPADEX GUAST 212 $21 Hcd-Al HISERIA sind s41?
(A) 2nictRRABlU 2512 T4(ISS) HIZ UAH WAL S (2l
.uam ALRANUL GriLsl saUnL A5 AASTZL
(C) 2ig A+ UlsasL
(D) uls@u2 2iafCd wiueelt weudl-d udlait

90 | [BMN] [Contd.


KS195
Highlight

KS195
Highlight

KS195
Highlight

KS195
Highlight


197. Which of the following statements is/are true regarding Cyber Surakshit Bharat?

198.

199.

200.

(i) It is an initiative of the Ministry of Defence, Government of India.

(i) It was conceptualized with the mission to spread awareness about cybercrime and build the
capacities of Chief Information Security Officers (CISOs) and frontline IT officials across all
government departments, banks and PSU.

(A) Only (i) @ ony i)
(C) Both (i) and (ii) (D) Neither (i) nor (ii)

Which of the following statement(s) is/are true?

(i) Navigation with Indian Constellation (NavIC) is India’s independent regional navigation
satellite system designed to provide accurate Position, Velocity and Timing (PVT) service to
users in India as well as to region extending about 1500 km beyond Indian land mass.

(ii) NavIC will provide two types of services, namely, Standard Positioning Service (SPS) and
Restricted Service (RS).

(A) Only (i) (B) Only (ii)
@zoth (i) and (i) (D) Neither (i) nor (ii)

Which of the following are the portals of Indian Space Research Organization (ISRO)?

(i) Bhoonidhi (ii) Bhuvan

(iii) VEDAS (iv) SPARK

(A) Only (i) and (ii) (B) Only (iii) and (iv)
(C) Only (ii), (iii) and (iv) .(i), (ii), (iii) and (iv)

What critical milestone did ISRO achieve with the SPADEX satellites in March, 2025?
(A) First crewed mission to the International Space Station

.Successful undocking in a circular orbit on the first attempt

(C) Deployment of a lunar rover

(D) Testing a nuclear-powered propulsion system
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